Non Plug-in

Compact 5-Port Solenoid Valve New

Size reduction possible thanks to a flow increase c EE

This leads to space saving, weight
reduction, and a large flow rate.

ES|
Possible to drive 632 bore cylinders

%1
Possible to drive 650 bore cylinders

JSY3000

%1
Possible to drive QSO bore cylinders

JSY1000 JSY5000

15 mm

A, B port size: 02, 24, 06

A, B port size: 06, 28 A, B port size: 98,010,212

%1 The cylinder speed is 300 mm/s

Q

o

o
a
N
o

Bore size [mm]

Bore size [mm]

o2 (N 20 oso| N 430
oso| Ml 110 | oto0| 120 | 5

100 300 500 100 300

Bore size [mm]

0140 -110

500 100 300 500
Cylinder speed [mm/s] Cylinder speed [mm/s] Cylinder speed [mm/s]
26 One-touch fitting 28 One-touch fitting @12 One-touch fitting

Refer to pages 5 to 8 for detailed conditions regarding the above cylinder speed.

JSY3000 .. I JsSY5000

JSY1000/3000/5000 series & S\NC

CAT.ES11-113A©




Compact 5-Port Solenoid Valve JSY1000/3000/5000 series

Series Map

36%

17%
6.4 mm @ 10 mm O]

reduction

17%

240 g «= 560 g 470 g« 8704 960 g «= 1160 g Qs

3.7

SY7000

Lightweight
> 46% lighter

470 g « 8

C [dm?/(s-bar)]

]
o
c
S
o]
5]
S
°
c
o
o
=
c
=]
(72}

SY5000

W 57% lighter
5 240 g « 5
06[---------- L0 <A

JSY1000 series

6.4 10 15 18

Valve width [mm]

Power Consumption
| JSY3000/5000 K | JSY3000/5000 K&
Standard

i 01w 0.2w 4w

1 Made to Order %2 JSY1000 series available as
power saving type only.

With power

Power consumption is
reduced by power

saving circuit. 24V Applied voltage

Power consumption is decreased

to approx. 1/2.5 to 1/4 of the oV

amount consumed at startup by

reducing the wattage required to

hold the valve in an energized JSY1000 0.5 W Inrush

state. JSY3000/5000 0.4W — [ 7~ | T TTT° 1

(Effective energizing time is over JSY1000 0.2 W / Holding |

62 ms at 24 VDC.) Refer to the JSY3000/5000 0.1 W \

electrical power waveform as -
i ow 62 ms

shown on the right. JSY5000

® 1

O
2

C [dm?¥(s-bar)]
3.7«1.9

C [dm?¥/(s-bar)]
1.8«0.8

JSY3000




Compact 5-Port Solenoid Valve JSY1000/3000/5000 series

Space Saving

Volume 3 6
............................ (o) -
Mo %o reduction
Weight 5
............................ (o)
Mo / %o reduction
‘ Volume [cm?3] ‘ Weight [g]
----- J$Y_10_OQ___ ---------?-1-9--36%-reduction- ---------?ﬂg--57%<reduction-
330 560
----- Jsv-so-oq--- ---------‘-1-6-9--28%-reduction- ---------429--46%4reduction-
640 870
----- J$Y_50_09___ 85014% reduction- ---------9-99--1~7-%—reduction-
990 1160
4-Position Dual 3-Port Valve Available Bottom ported is prepared (A, B port).

* Two 3-port valves built into one body

Panel fitting

spool valve

« 3-port valves on the A * Combination examples

and B sides can operate Model mu B side

independently.
«When used as a 3-port JSY[JA4[] [ N.C.valve [ N.C. valve

valve, only half the number | JSY[IB4[] | N.O.valve | N.O. valve

of stations Is required. JSY[IC4 | N.C. valve | N.O. valve
¢ Can also be used as a

4-position, 5-port valve

Application Examples




Compact 5-Port Solenoid Valve JSY1000/3000/5000 series

Series Variations

24 | 06 | 28 | 010

2-position single
(A4 2(B)
[0
2 0.63 (EA)5 1 3(EB)
o (P
2-position double
(A4 2(B)
— o6 [ —|— o 0 — | — 1/8
(EA)51 3(EB)
(P)
€
L 0.75 | 3-position closed center
] R4 2(8)
(EA)513(EB)
P
3-position exhaust center
(A4 2(B)
[0
k=] 1.81
(7] (EA)51 3(EB)
(P
3-position pressure
center
— o8 A4 2B) 24VDC| — o — — | ®|®|— 1/4
(EA)513(EB)
5 ®
£ 2.13
@ 4-position
dual 3-port valve
N.C. valve x 2 pcs.
4 28)
JSY
5000
T T T
S o) 5(EA) 1(P) 3(EB)
3 372 | N.0. valve x 2 pes.
. 4A) 2(B)
, — o912 — I —|— | ® | ® —|— | ®| @ 3/8
"“* 5(EA) 1(P) 3(EB)
< sonsll N.C. valve, N.O. valve
a4 & 1 pc. of each
2 £S5 | § 4(A) 2(6)
!\l" % £ 4.47 |
¥ver @ mzﬂ;%nzﬂ%
T T T
5(EA) 1(P) 3(EB)

d O
Optio

O | O
p.38|p.38

p. 38

A

External
pilot

e Optio
5 | a
O A
Individual | External
SUP | pilot

@ Standard O Option A Made to Order (Refer to page 40.)

*1 When using M8 connector.

M Individual SUP spacer m

When the same manifold is used for
different pressures, an individual
SUP spacer is used as a supply port

for different pressures.

2-position single valve

Individual SUP spacer assembly

vy e

Circuit diagram

(Mounting example of a 2-position single valve)

® 3

Manifold Options

exhaust.

Individual EXH spacer assembly

Circuit diagram

M Individual EXH spacer [3EE)

When valve exhaust affects other
stations due to the circuit configuration,
this spacer is used for individual valve

3/5(E")
5(EA) 5(EA)
EPE ——1(P)
EB) 3(EB)

(Mounting example of a 2-position single valve)

Used when valve

additions are expected

or for maintenance.

(A ®
4 2
I I
TTT
5 1 3

(EA) (P) (EB)

M Blanking plate [3EE)

Tube Releasing Tool

H This tool is used for
removing the tube
from port A and B.

For JSY1000

o4
“{/7 o8
212

For JSY5000

For JSY1000/3000 28



CONTENTS

Optimum Actuation Size Chart of Air Cy|inder ............... p.5 Valve CONSIIUGLION -« crrerrerrrrmmmnimiiiiiiiinieaneans p. 11
Valve Specifications Valve Replacement Parts - ocoveeriiniiniiiinnn, p. 12
(Specifications, Response Time, Weight)««..--ceeeeevveenns p.9
| Manifold J
[ Non Plug-in | Metal Base
Type 40 Side Porteleype 41 Bottom Ported - p. 14
““E»“" e Metal Base (Specifications, Flow Rate Characteristics, Weight)----+-+- p. 14
BT 1 \::'.:--':
) v Dimensions/JSY1000: Type 40 Side Ported « - +:w-sweusesessmscismsisisinisiniiiiiinss p. 17
JSY1000 JSY1000
Side ported Bottom ported
\*i.i’;% Dimensions/JSY1000: Type 41 Bottom Ported -« p. 20
V“:‘r:g&'}; ._“Y;;;a""-'.' Dimensions/JSY3000: Type 40 Side Ported « st p. 23
- il
JSY3000 '4sY3000
Side ported Bottom ported Dimensions/JSY3000: Type 41 Bottom Ported -+ swssesseeseustessessussnssiisininnsinsnnns p. 26
=
l' g Dimensions/JSY5000: Type 40 Side Ported s p. 29
N eSS
REe
) \‘”," gl Dimensions/JSY5000: Type 41 Bottom Ported -« p. 32
JSY5000 JSY5000
Side ported Bottom ported
Manifold Exp|oded DY AT T p. 35
One-touch Fittings, C||p, Port Plate, Tube Re|easing B 10 Yo ) TN p. 36
MaNIfOIA OPTIONS -+ v vvrrrteee ettt e s s st e e s sttt e e e p. 37
LY 2T T2 0 (0 T O 0 = N p. 40
Specific PrOQUCT PrECaAULIONS ++tvtterreretettttitititiiiiiiiiiiirt ittt et tettettttetetteetatetsesatettatesessesesesssesessnsesesensnserensnsesensns p. 41
Safety RTS0[0 T T T T PN Back cover

Chart

Valve

Metal Base

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-

Manifold
Exploded View

Fittings, Replacement
Parts, Tools

Manifold Options

Made to Order

Specific Product
Precautions




Optimum Actuation Size Chart of Air Cylinder

| I Horizontal [ Vertical |
0

c
@
o
0 .
o > 2
NS © .m
° kel
% =
c kel
o =)
£ kel
]
o £ m
3 2 o
s &
Snm.v c
S £ =
o ¥ 3
S o o
© X ()
oS, =
o [TIRTIN o
=) 29235 L
0 g0 3
—_ — E8-
° 9 E2% %
IS € o~
o= o
— — D=2 S0
il gl ebu.m.m
® & FeoBE
g3 3 sS8ED
0 o
o ¥ © °7E 20
g g seicg
o j BEQLO
g 2 Eo<5a
< < cEE g
08 ™5
>S90
o 2075 .o
S 2T L5
® o> o
SF0 DS
-2 99
ndacgr
S2Eo0L
c.mdmd
c
d..mane
55358
8 32583
g e
N 0% 5,85
>s9%
dwmmm
28595
SoZQaw
(LIS i
w2723
o OCo00O0® g
< o coBEa
Q - o000
[2] o
oo SaRES
Q0o e
] oo cm
- 38-sa
2055
(o} = = = O
o Bsops
o >59%
° om 220
o0 32558
= =) SFLGO0
A S ¥ ¥ ¥ X ¥
=
m Daluo Dauuom Daluom
PN N N
o %Mmm %Mmm %MWm
- = 2 ..o = 0o = 9o
Vl O © 900 O ©co09Q O ©09°0
» = »w =0 » = 0
(7)) 0T g 0T 0T
o 228 a 2%g o 2% g
> S z35 S 333 < 285
O 83= a3 S Cswm
S < O 295 5dh
(o} o o o

®5



Optimum Actuation Size Chart of Air Cylinder

aseg |e1dN Maip papojdx3 $|00] ‘sped suonnesaid
ey [NENNC !Eai 000LASF 7 000EASF 7 000SASF 7 en || wowsborton ‘squyy || Sondoponuew || sepoovepew || BOWTHE

| I Horizontal [ Vertical |
0

c
@
o
o .
= 2]
o 5 N
[ Qo 5
° kel
% e
c kel
® =3
£ kel
©
o £ w
3 2 2
s 8
Snm.v c
S £ =
= =
Lo o
© X ()
oS, =
o [TIRTIN o
S =_95 2
o] 8o F
I o 8T .5
= = o x -2
IS £ o~
gy = &
— — D=2 S0
o gl ebu.m.m
%0 3 Wmm.ww
& o ) 50 8E 0
o ¥ o 5520
g g seicg
I}
5 5 mmmmm
> > o5 a
< < csEE g
08 ™5
>S90
o SO 5 C
S WdX.It
@ 5> 0%
SF0 DS
299
CTo T OO rf
S 2Eo0SL
OF5oE2
d..mane
£635%
I @ =
Q 0% 5,85
>s9%
gsfeg
28595
SoZQaw
a..hlLUd
=3
© 8 cosE
c s CaQ
S " 58t
[7] o
.. SaRES
Q0o e
- L20cw
— 382
o955
(o] - 0822
o CSswmyg S
0 >35 9=
° om 220
m §2558
= =) SFLG0
A S % % % % *
=
S £ o o ..
PN N N
o %MWM %Mmm %MWm
- = 2 ..o = 0o = 9o
>= O ©90 ® o009 ® SO
» = »w =0 » = 0
o 0T g 0T 0T
N 55X a 5-¢ N 559
- = 2320 =286 < 289
O 83= a3 S Cswm
E Y] O 0355 7]
(o) o o o



©
.2
=4
)
> .
c
@
- 2
N ) ° =
LHERC R B R R e R R R B B e S R B R BREE T S 2
2|~ ~ Qo
] =]
N D
N @
S c
I )
<
=
-0 o £
— SRR R R TR 2 s
o
@
1)
5
o)
o
©
o
g g sag
0 o) o®o
o o €8T
IS € ST x
==
£ £ o= 3
£ = =2
° ° o835
@ @ Q'p o
a9 o & 225
AR O B B A B B BN S Siiiied ik el Seeieieiiiieieieieh Atk Stk Sefeieei et QS o =]
< < O.m
o [) ? 5 G
o o [
g g s
) )
> > <
< < I~

)

300

)

((Load mass x 9.8

200

08
100

« QOperating piston speed is different depending on the applicable cylinder. Refer to the cylinder catalog for details.

* The average speed of the cylinder is obtained by dividing the stroke by the total stroke time.

* Formula for load ratio: Load ratio
* Cylinder for horizontal use are based on the coefficient of rolling friction 0.1.

* Values at extension of a directly coupled cylinder when meter

232
2100
2125
2140
2160
2180
2200

CM2 series
Pressure: 0.5 MPa
Load ratio: 50%
Stroke: 300 mm
CA2 series
Pressure: 0.5 MPa
Load ratio: 50%
Stroke: 500 mm
CS1 series
Pressure: 0.5 MPa
Load ratio: 50%
Stroke: 1000 mm

Optimum Actuation Size Chart of Air Cylinder

For JSY3000, A, B port

®7



aseg |e1dN malp papojdx3 $]00] ‘sued suonnesaid
ue aAle i suondg pjojiue; 13piQ 0} ape :
ud IEA Ly odAL| oy adAL 000LASH 000€ASH 000SASP plojiuep awage|day ‘sbuni4 1do projuen P10 0} 3peiy 1anpoud apiaadg
@
— o o
I N —a———BA I - bin g ®
e - =
(9]
> .
o
[ | g
o o
g S T BTt T T e B T T T e LT S o .
— © =] = k2]
[} 3 =
]
c o 5
3 3 ¢
N =
5 s 2
T Sl S o =
@ @ < o
= ©
3o 3
()
o
B I e e S B T R B Tl AEREEER e S g€ £
R N~ o= nVu.
1< Wln,nv [}
£ o 9 =
o b;&Wa e
e 3 o _ mﬁl;mm >
ol BT TR 39 m..wx )
[0) £ o0 T
=0 .
o)) 1S o+ 3 o
© = ox>8§853
[ M 205372
> 3 F00%8=
< o o X ===
Sl----p-+ -l @ S 2 =20 8+ O
e bre] 2] Ur.mg
O == ()
S L 2D LR
© 0L 53T ®
o mmMrm
> o5 a
o < c£EES o
N [=3 OO0 c®
St oL Bl S oY)
< < €222
2520 <
o> NE o
[0} n O
52 g qg°
£ OO rff_J
B S2Eo0L
=3 O5osg
o B B0 I [ e e A I IS oDE S c o
2896 a
203
Sesgs
L0
Q I —
0% 5,85
o £22%05
=
S B RE R B R B e B e B 3 %Wrmﬁ
Al aq ."Cdarm
SolQe
oS35S
ft..ld
(9] 6508 3
— COoOm®E D
Q o o EREER
S 5 ks 3 ks S S R N HESEEE RS ARE RRREECE EECELSCELLY S 205N c
. - cC2g 5o
T 2022235
|- XeHr.mu
O D5 5
o = = = O
o 0 S35
ST ®
(]
m e e SgESLs
o 10 o o o o >Q
- g 2 2 2 8 8 S 8 8 8 SELES
3 3 2 2 - — - - - I3
<L S S S S S Q % % % % %
=
m Dnuuom % o £ %om
N N PN
(=] %M:OUm %MWm P =5E
D = vl o = 0o = ©0'fg
>= 0 oogQ O 0o O ©056
(/) o s o IS
[} udm N 5 m ™ S Q
= = 230 < 2386 n a3 =x
O 838:= O 88= O 882
S b S adh =
(o) o o a” @

Optimum Actuation Size Chart of Air Cylinder



JSY1000/3000/5000 Series
Valve Specifications

Valve Specifications

Valve type Rubber seal
Fluid Air
Internal pilot 2-position single 0.151t0 0.7
operating pressure 2-position double 0.1t00.7
range 3-position 0.2t00.7
[MPa] 4-position dual 3-port valve 0.15t0 0.7
External pilot Operating pressure range —100 kPato 0.7
operating pressure ) 2-position single
range [MPa] Pilot pressure 2-position double 0.2510 0.7
(Made to Order) range 3-position
Ambient and fluid temperatures [°C] —-10 to 50 (No freezing)
2-position single/double 5
JSY1000/3000 4-position dual 3-port valve
Max. operating 3-position 3
frequency —
[Hz] 2-position single/double 5
JSY5000 4-position dual 3-port valve 3
3-position 3
Non-locking push type
Manual override Push-turn locking slotted type
Push-turn locking lever type
Pilot exhaust type Internal pilot Individual exhaust
External pilot (Made to Order)
Lubrication Not required
Mounting orientation*! Unrestricted
Impact/Vibration resistance*! [m/s2] 150/30
Enclosure IP40/1P65: M8 connector (W) (WA) type
Electrical entry L plug connector (L), M plug connector (M), M8 connector (W)(WA)
Coil rated voltage [V] 24 \VDC
i JSY1000 —7% to +10% of the rated voltage (24 VDC)
Allowable voltage fluctuation
JSY3000/5000 +10% of the rated voltage
Standard JSY3000/5000 0.4
i JSY1000 0.2*2[Inrush 0.5, Holding 0.2
mﬂer consumpten | o With power™s I} 2 000/5000 ; . 28
saving circuit (Made to Order) 0.1*4 [Inrush 0.4, Holding 0.1]
Surge voltage suppressor Diode
Indicator light LED

+1 Impact resistance: No malfunction occurred when it is tested in the axial direction and at the right angles to the main valve and armature in both
energized and de-energized states every once for each condition. (Values at the initial period)
Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was performed at both energized and de-energized
states in the axial direction and at the right angles to the main valve and armature. (Values at the initial period)
Refer to page 45-1 for the fixation of DIN rail mounting type manifold.

%2 JSY1000 series available as power saving type only. Standard type (without power saving circuit) cannot be selected.

*3 M8 connector with power saving circuit are not available.

=4 For details, refer to page 44.



Valve Specifications JS Y1 000/3000/5000 Series

Response Time/Valve Weight

Response time [ms] (at 0.5 MPa)*?

Standard Weight [g]
Seri Seal t Model T f actuati ith li
eries eal type odel ype of actuation With ||2[L'l|t/surge voltage UM W/WA
ppressor
plug connector M8 connector
Z type
JSY1140T 2-position single 15 17
JSY1240T 2-position double 5 24
JSy1000 JSY1(3/4/5)40T | 3-position 13 25 B
JSY1(A/B/C)40T | 4-position dual 3-port valve 14 24
JSY3140 2-position single 27 34 38
JSY3240 2-position double 10 49 57
JSY3000 | Rubberseal |~ ova3/a/5)40 | 3-posiion 30 52 60
JSY3(A/B/C)40 | 4-position dual 3-port valve 27 48 56
JSY5140 2-position single 42 66 70
JSY5240 2-position double 13 83 91
JSYS5000 JSY5(3/4/5)40 3-position 40 93 101
JSY5(A/B/C)40 4-position dual 3-port valve 41 80 88

*1 Based on dynamic performance test, JIS B 8419-2010. (Coil temperature: 20°C, at rated voltage)

Chart

Valve

[Type 40] Type 41]
Metal Base

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-

Manifold
Exploded View

Fittings, Replacement
Parts, Tools

Manifold Options

Made to Order

Specific Product
Precautions

10®



JSY1000/3000/5000 Series
Valve Construction

Rubber Seal

2-position single 2-position double

] 7@ 7D i@ ] il
mliz | i
0 0
o 1y - 1Y L
5 4 1 2 3
(EA)(A) (P) (B)(EB)

5 4 1 2 3
(EA)(A) (P) (B)(EB)

2-position single 2-position double
(A4 2(B) (A4 2(B)
EZMZE o 7:1 Y
(EA)5 1 3(EB) (EA)5 1 3(EB)
(P) (P)

3-position closed center/exhaust center/pressure center 4-position dual 3-port valve

3-position closed center 3-position exhaust center 4-position dual 3-port valve
(A4 2(B) (A4 2(B) N.C. valve x 2 pcs.
M W 4(A) 2(B)
D1\ slpgele I<INT | 1>1T‘\HTH/11<| ] | 1
(EA)5 1 3(EB) (EA)5 1 3(EB)
(P) (P)

3-position pressure center

|
(A4 2(B) 5(EA)  1(P) 3(EB)

N.O. valve x 2 pcs.
/Dl TlT [ <\] 4(A) 2(B)

s AN =<Pya = A=

(EA)5 1 3(EB)
(P)

T
T
5(EA)  1(P) 3(EB)
N.C. valve, N.O. valve 1 pc. of each
4((\) 2(B)
mﬂj;g ik
!
5(EA) 1(P) 3(EB)
Component Parts
No. Description Material
1 | Body Aluminum die-casted
Aluminum/HNBR
2 | Spool valve 4-position solenoid valve:
Resin/HNBR
3 | Piston Resin
4 | Pilot valve assembly —

11



JSY1000/3000/5000 series
Valve Replacement Parts

How to Order Pilot Valves

For JSY1000

V050 T-

)

’ How to replace pilot valves ‘

Coil type
[ T [ With power saving circuit ]
Rated voltage ®
| 5 [ 24vDC
Electrical entry e
L L plug With lead wire
LO | connector Withput conngctor Clip part no.
M M plug With lead wire JSY11V-46-1A (10 pcs.)
connector i
B Without connector « Clip is not included in the pilot valve.
Light/surge voltage suppressore RACallltlon
—— emova
l z [ With ligh/surge voltage suppressor l 1) Remove the clip from the adapter plate by using a flat head screwdriver
on the concave of the clip.
2) Remove the pilot valve in the direction of the arrow. (Remove also the
gasket together.)
Mounting
1) Mount the pilot valve on the adapter plate.
2) Insert the clip into the adapter plate so that the clip will not protrude
from the end of the adapter plate.
For szsoo()/sooo =1 Confirm that the gasket is mounted on the pilot valve.
Coil typel TLight/surge voltage suppressor
Nil Standard [ Y4 [ With light/surge voltage suppressor ]
T With power saving .
circuit (Made to Order) Electrical entry
= Power saving circuit is not available L L plug With lead wire
in the case of WO or WAL type. LO | connector Without connector
M M plug With lead wire
Rated voltage ® MO | connector | Without connector
[ 5 [ 24 VDC ] wo M8 Without connector cable
WL | connector | With connector cable
WAO M8 Without connector cable
WALI| connector | With connector cable

+ Refer to “Electrical entry” on page 16 for
details on options “WAQ” and “WALT".

x For WO and WALJ, enter the cable length
symbols in [. Please be sure to fill in the
blank referring to page 43.

= The “WAQO” and “WALI” M8 connectors are
IEC 60947-5-2 standard compliant.

Pilot valve

Mﬁlot valve mounting screw (M2 x 14) 1

Tightening torque: 0.12 N-m

12

o~

®

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-mm vaive [T

. . Fittings, Replacement Manifold
Made to Order Manifold Options Parts, Tools Exploded View

Specific Product
Precautions



\)

13



JSY1000/3000/5000 Series L ol
[Non Plug-in| Metal Base

&
Manifold Specifications 3
]
Manifold type Non plug-in metal base %
SUP/EXH port type Common SUP/EXH =
Valve stations 2 to 20 stations
JSY1000 1/8 g
1(P), 3/5(E) port | JSY3000 1/4 e
< @©
JSY5000 3/8 2o
F=
M3 x 0.5, M5 x 0.8
Port size JSY1000 @2 One-touch fitting, 4 One-touch fitting, 6 One-touch fitting
M5 x 0.8, 1/8
4(A), 2(B) port JSY3000 @6 One-touch fitting, @8 One-touch fitting
1/8, 1/4
JSY5000 @8 One-touch fitting, 10 One-touch fitting, @12 One-touch fitting

Manifold Flow Rate Characteristics/Manifold Weight

JSY5000 ‘ JSY3000 ‘ JSY1000

Port size Valve flow rate characteristics Weight: W [g]*!
Model 1,5,3 4,2 1 4/2 (P — A/B) 4/2 - 5/3 (A/B — E) (n: stations)
(P, EA, EB) (A, B) C [dm3/(s-bar)] b C [dm3/(s-bar)] b Fixed: CC] | Replaceable: KC[I
J‘.jSSY1 40 1/8 KC6 0.62 0.34 0.63 0.28 20.1n + 38 30.5n + 35
(Side ported)
JJ5SY1-41 1/8 KC6 0.74 0.46 0.75 0.36 20.8n + 38 33.8n + 35
(Bottom ported)
J._JSSY3-40 1/4 KC8 1.86 0.36 1.81 0.27 38.0n + 84 54.4n + 86
(Side ported)
=
2
JJ5SY3-41 1/4 KCs 2.31 0.43 2.13 0.31 41.2n+ 84 59.6n + 80 3=
(Bottom ported) =3
S o
==
J'.JSSYS-40 3/8 KC12 3.61 0.30 3.72 0.18 90.1n + 148 121.5n + 144 i
(Side ported)
JJ5SYS-41 3/8 KC12 4.28 0.40 4.47 0.25 95.8n + 133 140.1n + 122
(Bottom ported)

=1 Weight: W is the value of the internal pilot, and maximum manifold size with tube fitting type. Valve is not included. To obtain the weight with valves
attached, add the valve weights given on page 10 for the appropriate number of stations.

= Calculation of effective area S and sonic conductance C: S=5.0x C
* The value is for manifold base with 5 stations and individually operated 2-position type.
+ Bottom port is available only for 4, 2 (A, B) port.

. . Fittings, Replacement
Made to Order Manifold Options Parts, Tools

Specific Product
Precautions

14



Type 40

Side Ported

Type 41

Bottom

Ported

Internal Pilot

[Non Plug-in] Metal Base

JSY1000/3000/5000 Series

(€ ca @

How to Order Manifolds

-_— — f— de to
JJ5SY 3 40 05 D CG Made to Order
(Refer to page 40 for details.)
Specification
External pilot
o Series 9 Type 9 Valve stations Q P, E port entry
1 JSY1000 40 Side ported Symbol Stations U U side*!
3 JSY3000 4 Bottom ported 02 2 stations D D side*!
5 JSY5000 * The external pilot specification should be : L B Both sides
ordered as Made to Order. For details, 20 20 stations #1 Plugs are mounted on the opposite

refer to page 40.

side of the selected ports.

e A, B port size 0 Thread type 0 Mounting
Thread piping Nil Rc Nil Direct mounting
Symbol A, Bport  |JSY1000 | JSY3000 | JSY5000 F G D | DIN rail mounting (With DIN rail)
M3 M3 x 0.5 o — — N NPT DO DIN rail mounting
M5 M5 x 0.8 o o — (Without DIN rail)
01 1/8 — ) [ ) D3 For 3
02 1/4 — — [ stations| Specify a longer rail
One-touch fitting (Metric) = :20 I‘zsgt;he standard
Symbol | A, Bport |JSY1000[JSY3000[JSY5000 D20 | '
Cc2 22 [ — — /
Sl Cca o4 ° _ _ ’?ﬁ = Only direct mounting is available for
E C6 26 — ° — Type 41 (Bottom ported).
Cs 28 — — ° + Refer to page 45-1 for the fixation of
DIN rail mounting type manifold.
KC2 22 L — — Type 40 Type 41
o| KC4 o4 L] — — (Side ported) | (Bottom ported)
3| KC6 26 ° o —
g| KC8 8 — D — s
a[KC10| 010 — — ° @
T KC12 212 — — L)
M1 |A, B ports mixed @2 ) [
P, E port size
(Thread piping) 18 4 s/8

=1 When ports are mixed sizes, indicate the piping specifications on the manifold specification sheet.
%2 In case of replacement of JSY1000 One-touch fitting, A and B port can only be mixed on the manifold base for KC2 and KC4.

How to Order Manifold Assembly

Example (JJ5SY3-40-0])

2-position double

2-position single
JSY3140-5L0Z (3 sets)

Manifold base (5 stations)

3-position closed center

JJ5SY3-40-05D-C6

©15

JSY3340-5L0Z (1 set)

JJ5SY3-40-05D-C6--1 set (Type 40 5-station manifold base part
no.)
* J8Y3140-5LOZ......- 3 sets (2-position single part no.)
+ JSY3240-5LOZ.-.-.-- 1 set (2-position double part no.)
* J8Y3340-5LOZ...-..- 1 set (3-position closed center part no.)

The asterisk denotes the symbol for the assembly.
Prefix it to the part numbers of the valve, etc.

- The valve arrangement is numbered as the 1st station from the D side.

- Under the manifold part number, state the valves to be mounted in
order from the 1st station as shown in the figure. If the arrangement
becomes complicated, specify on a manifold specification sheet.



vetal Base JS Y 71000/3000/5000 Series

How to Order Valves (With two mounting screws)

JSY1000 Series JSY 1 1 4 0 T - 5 L Z | order | Made to Order 5
l I I | I | (Refer tc? .pag.e 40 for details.) o
JSY3000/5000 Serles JSY 1 4 0 - 5 L Z With powerssj';\)/‘iar::glfI((::ia:(tzltcjirt1 (Continuous E

6 é 3 g é g é duty type): 0.1 W (JSY3000/5000)
External pilot

3 &
. . A ss
With power saving circuit Elm
S®
> S
iz
0 Series 9 Type of actuation 9 Pilot valve exhaust method
JSY1000 1 2-position single [ 0 [ Pilot valve individual exhaust ]
3 JSY3000 2 2-position double
5 JSY5000 3 3-position closed center
4 3-position exhaust center @ Rated voltage
5 3-position pressure center [ 5 [ 24 VDC
A Dual 3-port (N.C./N.C.)
B Dual 3-port (N.O./N.O.)
(& Dual 3-port (N.C./N.O.)

@ Electrical entry

L plug connector M plug connector M8 connector*!
L ‘ LO M ‘ MO wCl

L: With lead wire ! LO: Without connector
(300 mm)

i wo : WAL i WAO

M: With lead wire : MO: Without connector
(300 mm)

JSY1000

L
[
'
i
'
'
'
'
i
'
i
'
i
'
i
'

L
[
'
i
'
'
'
' | —
i
'
i
'
i
'
i
'

JSY3000
JSY5000

L
[
'
i
'
'
'
'
i
'
i
'
i
'
i
'
|
0
i
'
'
'
'
i
'
i
'
i
'
i
'

L: With lead wire 3 LO: without connector | M: With lead wire MO Without connector | WL With connector 3 WO: Without WALI: With connector 3 WAO: Without
+1 Refer to page 43 for the lead wire length of L and M plug connectors.
*1 The “WAQO” and “WALI” M8 connectors are IEC 60947-5-2 standard compliant.

@ cable ' connector cable @ cable ' connector cable
+1 Refer to page 44 for polarity details and the pin wiring diagram.

*1 For connector cable of M8 connector, refer to page 43. For W1 and WAL, enter the cable length symbols in [1. Please be sure to fill in the blank

Manifold
Exploded View

referring to page 43. =
£
S 2
. . S8
@ Light/surge voltage o Manual override 5'_"
suppressor Nil: D: i E: | 63
With light/surge voltage 8 | Non-locking Push-turn { Push-turn . £
z suppressor 2 | push type locking locking i
b slotted type lever type
- - = 1]
=
S
g [Nil: D: ¥ E: S
5 Non-locking Push-turn 4 Push-turn s
8 |push type locking locking s
=4 slotted type lever type =
> < g
a
g
When ordering a valve individually, the base gasket is not included. S
Since the base gasket is attached to the manifold, please order the base -E
gasket separately if it is needed for maintenance service. =
=

Refer to page 35 for base gasket and mounting screw part numbers.

/A Caution

If the JSY3000/5000 series will be continuously energized, please be sure to use
the power saving circuit (continuous duty type). Refer to Made to Order on page 40.
Additionally, when it is used at the energizing rate over 50%, please select the
product with power saving circuit.

For the JSY1000 series only the power saving circuit is available.

Specific Product
Precautions

16 ®



JSY1000/3000/5000 series

Non Plug-in | Type 40/Side Ported
Dimensions: JSY 1000 series LUEEIEEEE

JJ5SY1-40(R)-[Stations|B- ¥211(D)

=
(1) § g D side (L3) U side
(For DIN rail mounting) NE (5.3) (L4)
M5x0.8 51.9 g g (DIN rail mounting hole pitch: 12.5) Manual override
(E>'(terna| pilot*1) 6 <| &  DIN rail holding screw (Pitch) Push-turn locking
[P|I1%EXH port] = (For DIN rail mounting) 12 P=10.5 slotted type: Press,
then rotate it.
[1(P), 5(EA), 3(EB) port] DIN rail
2|8
o @
Lo
0
(9]
o] I ] ]
& ] o
o Y )
0 ~— [ee]
3 S e N
I by ~ @
‘ -
,': 2 2x94.3 ‘ ] 8 o
- (For mounting) ‘ (8)
M5 x 0.8 (Exte‘mal pilot*1) 35 L2 i
[External pilot port] (L5) L1
M plug connector (M)
63.6 Approx. 300
(Lead wire length)
L
!,,,,:} E«z—:f
‘ o M5 x 0.8
A -
|| Oe= o [4(A), 2(8) port]
@, aE
O3 e
8 7 o~
= o =
1 (Pitch)
10.5 P=10.5
T ’
Port size M3 Eﬂ
(Pitch)
12, P=65 40R-[Stations|§ 1
M3 x 0.5 e
[4(A), 2(B) port] L L L
AW
© Z 0 00 ?
A >f %1 The external pilot (R) should be ordered as Made to Order.
iii * These figures show the “JJ5SY1-40-05B-M5.”
Pitch
11 (P=I((3:.5) * The drawing above shows when
P, E port entry is D.
L Dimensions: Port Size M5 n: Stations

L~n| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

L1 345 | 450 | 555 | 66.0 | 76.5| 87.0| 97.5|108.0 | 118.5|129.0 | 139.5| 150.0 | 160.5 | 171.0 | 181.5 | 192.0 | 202.5 | 213.0 | 223.5

L2 275 | 38.0 | 485 | 59.0 | 69.5| 80.0| 90.5|101.0 | 111.5|122.0 | 132.5| 143.0 | 153.5 | 164.0 | 174.5 | 185.0 | 195.5 | 206.0 | 216.5

L3 60.5 | 73.0 | 855 | 98.0 | 110.5|123.0 | 123.0 | 135.5 | 148.0 | 160.5 | 173.0 | 185.5 | 198.0 | 198.0 | 210.5 | 223.0 | 235.5 | 248.0 | 260.5

L4 50.0 | 62.5 | 75.0 | 87.5 | 100.0 | 112.5 | 112.5| 125.0 | 137.5| 150.0 | 162.5| 175.0 | 187.5 | 187.5 | 200.0 | 212.5 | 225.0 | 237.5 | 250.0

L5 130 | 140 | 150 | 16.0 | 17.0| 18.0| 13.0| 14.0| 150| 16.0| 17.0| 18.0| 19.0| 135| 145| 155| 165| 175| 185

L Dimensions: Port Size M3 n: Stations
r~n| 2 | 3| 4 |5 |6 |7 | 8| 9 |10 11 |12 |13 | 14 | 15 [ 16 | 17 | 18 | 19 | 20

L1 30.5 | 37.0 | 435 | 50.0 | 56.5 | 63.0 | 69.5 | 76.0| 825| 89.0| 95.5|102.0108.5|115.0| 121.5|128.0 | 134.5| 141.0 | 147.5

L2 23.5 | 30.0 | 36.5 | 43.0 | 495 | 56.0 | 625 | 69.0| 75.5| 82.0| 88.5| 95.0(101.5|108.0 | 114.5|121.0 | 127.5| 134.0 | 140.5

L3 60.5 | 73.0 | 73.0 | 855 | 85,5 | 98.0 | 98.0 | 110.5|110.5| 123.0 | 123.0| 135.5 | 135.5 | 148.0 | 148.0 | 160.5 | 160.5 | 173.0 | 173.0

L4 50.0 | 62,5 | 625 | 75.0 | 75.0 | 87.5 | 87.5 | 100.0 | 100.0 | 112.5 | 112.5| 125.0 | 125.0 | 137.5 | 137.5 | 150.0 | 150.0 | 162.5 | 162.5

L5 15.0 | 180 | 150 | 180 | 145 | 175 | 145 | 175| 14.0| 17.0| 140| 17.0| 135| 16.5| 135| 16.5| 13.0| 16.0| 13.0

17



vetal Base JS Y 71000/3000/5000 Series

\\§

St >
Non Plug-in | Type 40/Side Ported LE \
Dimensions: JSY 1000 series RAEELELES -

‘i“"‘q
U 3 =
JJ5SY1-40(R)-[Stations| 5- &Z (1(D) - g
o L °
(For DIN rail mounting) 5|2 (5:3) (L4 0
M5 x 0.8 51.9 g _CB’ (DIN rail mounting hole pitch: 12.5) Manual override %
ilot*1 <| 3 i i i —
(E%ternal pilot*1) g DIN rail holding screw ho!dlng scrlew 12 g’;tghg Push-turn locking =
[Pilot EXH port] (For DIN rail mounting) - slotted type: Press,
1/8 then rotate it. 2 o
[1(P), 5(EA), 3(EB) port] R
N DIN rail 28
o o — Sk
oy ST
= -]
0| 8 F =
Y
al
6‘ [ee]
< S R 2
~ QT 3
P, N~| o
3 ~|w 103 2x04.3 T (8) v
~i 11.3 (For mounting)
21 T
M5 x 0.8 (External pilot*1) 35 L2 ‘
i [=]
[External pilot port] (L5) L1 8
M plug connector (M) g
63.6 Approx. 300 7))
(Lead wire length) (Station 1)-----(Station n) -
] One-touch fitting
= 4(A), 2(B) port .
ﬂ Appl[lc(abl)e tublr)1g‘))O |]3 04\ [B8) [B81\ (Light/surge voltage suppressor) §
n
>
T ! (—,J)
Yo}
"8 o g BeeeeN
R -
= 7 © & Eiiii i
) =
N (Pitch) =2
Y 10.5 P=8.5 23
: 5T
E 1
One-touch fitting 02 =3 =
(Pitch)
12 p=7 40R- E
One-touch fitti £
[4n(eA) O;J(CB) Fl)olz? T 3 1 The external pilot (R) should be ordered as Made to Order. § 2
H ! ! ! % ' “ - - _ ” E_ o
Applicable tubing O.D.: 62 QL L L [Plug for external pilof] x These figures show the “JJ5SY1-40-05B-C4. E :
BNy oy 35
9l ~ NG £
e HO £
of ==dd=l=
== = 2
10.9 (PP_";:h) * The drawing above shows when g_
: = P, E port entry is D. =
o
]
L Dimensions: Port Size C4 n: Stations | =
L~n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 325 | 41.0 | 495 | 58.0 | 66.5 | 75.0| 83.5| 92.0|100.5|109.0 | 117.5|126.0 | 134.5 | 143.0 | 151.5 | 160.0 | 168.5 | 177.0 | 185.5 _
L2 255 | 34.0 | 425 | 51.0 | 595 | 68.0| 76.5| 85.0| 93.5|102.0|110.5|119.0 | 127.5 | 136.0 | 144.5 | 153.0 | 161.5 | 170.0 | 178.5 S
L3 60.5 | 73.0 | 85.5 | 855 | 98.0 | 110.5|110.5|123.0| 135.5| 135.5| 148.0 | 160.5 | 160.5 | 173.0 | 185.5| 185.5 | 198.0 | 210.5 | 223.0 Z
L4 50.0 | 625 | 75.0 | 75.0 | 87.5 | 100.0 | 100.0 | 112.5| 125.0 | 125.0 | 137.5 | 150.0 | 150.0 | 162.5 | 175.0 | 175.0 | 187.5 | 200.0 | 212.5 §
L5 140 | 16.0 | 18.0 | 14.0 | 16.0 18.0| 135| 155| 175| 135| 155| 175| 13.0| 15.0| 17.0| 13.0| 15.0| 17.0| 19.0 =
L Dimensions: Port Size C2 n: Stations | _
L—~"n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 §g
o
L1 31.0 | 38.0 | 45.0 | 52.0 | 59.0 | 66.0 | 73.0| 80.0| 87.0| 94.0|101.0|108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0 | 157.0 [ —E
L2 24.0 | 31.0 | 38.0 | 45.0 | 52.0 | 59.0 66.0| 73.0| 80.0| 87.0| 94.0|101.0| 108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0 £ g
L3 60.5 | 73.0 | 73.0 | 855 | 85,5 | 98.0 |110.5|110.5|123.0 | 123.0| 1355 | 135.5| 148.0 | 148.0 | 160.5| 173.0 | 173.0 | 185.5 | 185.5 :‘,n'
L4 50.0 | 62.5 | 62,5 | 75.0 | 75.0 | 87.5 [ 100.0 | 100.0 | 112.5| 112.5 | 125.0 | 125.0 | 137.5 | 137.5 | 150.0 | 162.5 | 162.5 | 175.0 | 175.0
L5 15.0 | 175 | 140 | 17.0 | 13,5 | 16.0 19.0| 155| 18.0| 145| 175| 140| 16.5| 13.0| 16.0| 185| 15.0| 18.0| 145

18



JSY1000/3000/5000 series

Dimensions: JSY1000 series

Non Plug-in

Metal Base

JJ5SY1-40(R)- Stations| - K€ (1(D)

=
g|g D side (L3)
(11) 51.9 5|2 (5.3) (L4)
(For DIN rail mounting) 46 <& E o (DIN rail mouning hole pitch: 12.5) Manual override
M5 x 0.8 » 3 DIN rail holding screw ho!dmg screw 12 gl'g:g) Push-turn locking
(External pilot*1) (For DIN rail mounting) : slotted type: Press,
[Pilot EXH port] then rotate it.
1/8
[1(P), 5(EA), 3(EB) port] DIN rail
NI
S Q| @
0L
n
Qi
o )
= o @
© = = 0
© o ﬁ o /,\\ <
ro) = <«| ©
: 5 Y
[\
2x24.3 8
(For mounting) i (8) 0
—= SR 10.3 B
o N -l - EE
N2 1.3 35 2 =
AN X ©
eeg M5x0.8 2! (L5) L1
(External pilot*1)
[External pilot port]
M plug connector (M) (Station 1)------ (Station n)
63.6 Appr9x. 300 One-touch fitting
{ (Lead wire length) [4(A), 2(B) port]
EE_gT Applicable tubing O.D.: g6
} (Light/surge voltage suppressor)
3 i
@%01, T b
I g '
s o0 w| —
BRsy= e g
i 1 of == Ef==
s o == o [ p—
L (Pitch)
10.5 P=9.5
e Ki
One-touch fitting K&2 ===
One-touch fitting 40R-[Stations]p "
[4(A), 2(B) port]
Applicable tubing O.D.: 2 3 *1 The external pilot (R) should be ordered as Made to Order.
104 [Plug for external pilot] * These figures show the “JJ5SY1-40-05B-KC6.”
&l @
© r
~
<
108 * The drawing above shows when
: P, E port entry is D.

L Dimensions: Port Size KC6 n: Stations
LC~0n| 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L1 | 335|430 | 525|620 | 71.5 | 81.0| 90.5|100.0|109.5|119.0 |128.5|138.0 | 147.5 | 157.0 | 166.5 | 176.0 | 185.5 | 195.0 | 204.5
L2 | 265 | 360 | 455 | 55.0 | 64.5 | 74.0| 83.5| 93.0|102.5|112.0|121.5|131.0 | 140.5 [ 150.0 | 159.5 | 169.0 | 178.5 | 188.0 | 197.5
L3 | 605 | 73.0 | 855 | 98.0 | 98.0 [ 110.5 | 123.0 | 135.5 | 135.5 | 148.0 | 160.5 | 173.0 | 173.0 | 185.5 | 198.0 | 210.5 | 223.0 | 223.0 | 235.5
L4 | 500 | 625 | 75.0 | 87.5 | 87.5 [100.0 | 112.5|125.0 | 125.0 | 137.5 | 150.0 | 162.5 | 162.5 | 175.0 | 187.5 | 200.0 | 212.5 | 212.5 | 225.0
L5 | 135|150 | 165 | 180 | 135 | 150| 165| 18.0| 13.0| 145| 16.0| 175| 13.0| 145| 16.0| 175| 19.0| 14.0| 155
L Dimensions: Port Sizes KC2, KC4 n: Stations
LC~0n| 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L1 | 31.0| 380 | 450 | 52.0 | 59.0 | 66.0 | 73.0| 80.0| 87.0| 94.0|101.0|108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0 | 157.0
L2 | 24.0 | 310 | 380 | 45.0 | 52.0 | 59.0 | 66.0| 73.0| 80.0| 87.0| 94.0|101.0|108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0
L3 | 605 | 730 | 73.0 | 855 | 855 | 98.0 | 110.5|110.5 | 123.0 | 123.0 | 135.5 | 135.5 | 148.0 | 148.0 | 160.5 | 173.0 | 173.0 | 185.5 | 185.5
L4 | 500 | 625 | 625 | 75.0 | 75.0 | 87.5 |100.0 |100.0 | 112.5 | 112.5 | 125.0 | 125.0 | 137.5 | 137.5 | 150.0 | 162.5 | 162.5 | 175.0 | 175.0
L5 | 150 | 175 | 140 | 170 | 135 | 160 | 19.0| 155| 18.0| 145| 175| 14.0| 165| 13.0| 16.0| 185| 150| 18.0| 145

19



vetal Base JS Y 71000/3000/5000 Series

Non Plug-in | Type 41/Bottom Ported
Dimensions: JSY 1000 series EUGEEIELES =

% 'y - ‘e le
U ms :'ﬁ o : L - t
JJ5SY1-41(R)-[Stations| - M2 00 - & 5
3|2 oy o
a8 Ll
X2
oIS o
M5 x 0.8 51.9 <& 7 (Pitch) Manual override %
M plug connector (M) (External pilot*1) 46 3 12 P=10.5 Push-turn locking >
63.6 Approx. 300 [Pilot EXH port] slotted type: Press,
- 1/8 then rotate it.
(Lead wire length) B o omg me m T o
[1(P), 5(EA), 3(EB) port] sl ol i 9
i 8w
e - m
ﬁf . g3 N itufiili T
M ol o B R
AN— h 0 = F=
e : 0 HO ] N 3 b bl el o
~No g o ] ] .
@ N > D SE= T 2 18 Pl Pl Tl Do
bl q Yo — £ <
& [ 1 s & !
\% N 103 2x043 [
- 11.3 (For mounting)
N
21 il
M5 x 0.8

External pilot*1
[External pilot port]

[=]
Port size M3 (=]
(=}
™
»
(Pitch) 0
12 P=65 o -
M3 x 0.5 I
4(A), 2(B) port 1=
[4(A), 2(B) port] (Pitch) S
12 P=10.5 o
(o) >
5 4 x M3 x 0.5 thread depth 4 M5 x 0.8 (2]
(For mounting) [4(A), 2(B) port] -
< —
= 0
(3]
© -
& =3
@ = @
<t =
25
< fn}
<
Fitting dimensions for panel mounting -
Panel fitting dimensions Refer to panel fitting dimensions for details. g
2xM3x05threaddepth 4 | 8
2x 3.5 (For 9 stations or more) il
- 0@ «»
3 (For 9 stations or more) 35 gE
£
© = ] iz
- S N - 41R-[Stations|3*!
<| ™
\ 2 x M4 x0.7 3 g
2x04.3 f - =
[Plug for external pilot] o
4x035/ 2
3.5 3.5 #1 The external pilot (R) should be ordered as Made to Order. s
L3 * These figures show the “JJ55Y1-41-05B-M5.” =
L2 * The drawing above shows when
P, E port entry is D.
£
L Dimensions: Port Size M5 n: Stations | o
L 0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 §
L1 345 | 45.0 | 555 | 66.0 | 76.5 | 87.0 | 97.5 | 108.0 | 118.5| 129.0 | 139.5 | 150.0 | 160.5 | 171.0 | 181.5 | 192.0 | 202.5 | 213.0 | 223.5 =
L2 27.5 | 38.0 | 485 | 59.0 | 69.5 | 80.0 | 90.5 | 101.0 | 111.5 | 122.0 | 132.5 | 143.0 | 153.5 | 164.0 | 174.5 | 185.0 | 195.5 | 206.0 | 216.5
L3 — — — — — — — 50.5| 55.8| 61.0| 66.3| 715| 76.8| 82.0| 87.3| 925| 97.8|103.0 | 108.3 =
S 2
L Dimensions: Port Size M3 n: Stations | & 2
L w 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ‘Eg
L1 30.5 | 37.0 | 435 | 50.0 | 56.5 | 63.0 | 69.5 | 76.0 | 82.5 | 89.0 | 95.5 | 102.0 | 108.5 | 115.0 | 121.5 | 128.0 | 134.5 | 141.0 | 147.5 :*,n'
L2 23.5 | 30.0 | 36.5 | 43.0 | 495 | 56.0 | 62.5 | 69.0 | 75.5 | 82.0 | 88.5 | 95.0(101.5|108.0 | 114.5 | 121.0 | 127.5 | 134.0 | 140.5
L3 — — — — — — — 345 | 378 | 410 | 443 | 475| 50.8| 54.0| 57.3| 60.5| 63.8| 67.0| 70.3

20



JSY1000/3000/5000 series

Dimensions: JSY1000 series

Non Plug-in

JJ5SY1-41(R)-[Stations|- &30

M plug connector (M)

63.6 Approx. 300
(Lead wire length)
|
j jﬁ
.—\_1 0
H %Gv T ©
1 & SE
OS= )
LI _—
N

One-touch fitting 22

(Pitch)
12 P=7
One-touch fitting
[4(A), 2(B) port]
Applicable tubing O.D.: 2
° ©
2B ™~
D (DK
an S
° @

Panel fitting dimensions
2x023.5

3- (For 9 stations or more)
®
o o] @ Q
< ® \
2xM4x0.7
2x04.3

4x23.5/

M5 x 0.8

Metal Base

(2.8)

51.9

(External pilot*1)

46

[Pilot EXH port]
1/8

[1(P), 5(EA), 3(EB) port]

<
ai
o

13.2

50

29.4

17.7
15.8

[External pilot port]

Approx. 300
(Lead wire length)

Type 41/Bottom Ported
Port Size: 92, 4/Fixed

121
112

82.5

\Q
-
N

"; et N R 265"
\:Q o’/.“(.u? ‘:,‘& ‘)pm"i’
e JI
.l‘f i1l ..T?h f
"1[ J wr
(Pitch) Manual override
P=8.5 Push-turn locking

slotted type: Press,
then rotate it.

48.9

(For mounting)

2x24.3

4 x M3 x 0.5 thread depth 4

(For mounting)

0
[}

25

12

(Pitch)
P=8.5

One-touch fitting
[4(A), 2(B) port]
Applicable tubing O.D.: g4

43

©
-
N

Fitting dimensions for panel mounting

Refer to panel fitting dimensions for details.

41R-[Stations|3+1

3

[Plug for external pilot]

3.5

13.7

2 x M3 x 0.5 thread depth 4
(For 9 stations or more)

*1 The external pilot (R) should be ordered as Made to Order.
* These figures show the “JJ5SY1-41-05B-C4.”

35 35
L3 ==
L2 # The drawing ab_ove shows when
P, E port entry is D.

L Dimensions: Port Size C4 n: Stations
c~>n| 2 3 4 5 6 7 8 9 [ 10 | 11 |12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L1 325 | 41.0 | 495 | 58.0 | 66.5 | 75.0 | 83.5 | 92.0 | 100.5|109.0 | 117.5 | 126.0 | 134.5 | 143.0 | 151.5 | 160.0 | 168.5 | 177.0 | 185.5
L2 | 255 | 340 | 425 | 51.0 | 59.5 | 68.0 | 76.5 | 85.0 | 93.5|102.0|110.5|119.0 | 127.5 | 136.0 | 144.5 | 153.0 | 161.5 | 170.0 | 178.5
L3 — — — — — — — | 425 | 46.8| 51.0| 55.3| 59.5| 63.8| 68.0| 72.3| 76.5| 80.8| 85.0| 89.3
L Dimensions: Port Size C2 n: Stations
L~ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 31.0 | 38.0 | 45.0 | 52.0 | 59.0 | 66.0 | 73.0 | 80.0 | 87.0 | 94.0 | 101.0| 108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0 | 157.0
L2 | 24.0 | 31.0 | 38.0 | 45.0 | 52.0 | 59.0 | 66.0 | 73.0 | 80.0 | 87.0 | 94.0|101.0|108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0
L3 — — — — — — — | 365 | 40.0 | 435 | 47.0| 50.5| 54.0| 57.5| 61.0| 645| 68.0| 71.5| 75.0

21



vetal Base JS Y 71000/3000/5000 Series

'1,1.1 i

-

Non Plug-in | Type 41/Bottom Ported
Dimensions: JSY'I 000 Series Metal Base | Port Size: 62, 04, 06/Replaceable

U KC2 = €
JJ5SY1-41(R)-[Stations|D-KCa[] /B 2
B KC6 8|5 5
(17.2) 51.9 S
M5 x 0.8 53 [D side] [U side]
Mol tor (M (External pilot*1) 46 <% 3 (Pitch) Manual override 2
plug connector (M) [Pilot EXH port] S 12 P=9.5 Push-turn locking g
63.6 Apprgx. 300 slotted type: Press,
(Lead wire length) 1/8 then rotate it.
[1(P), 5(EA), 3(EB) port] uelioe e fusfoe g o
¥ o O
f s m— S8
AT Nl 2]
< ™| N H H H L o -
[Te) | ~ h o L :;’- %
E %{% : ‘u_) - \fgﬁb; : g o e G 6L O | =
f N g o € o il @
] e re} 3 RS i o0
o= : J L EHESL S 87 (el @
A « S %‘% b ik
@ — N ‘ =
\%B SRl 103 2x043 (||
? - 11.3 (For mounting)
21
M5 x 0.8
(External pilot*1)
[External pilot port]
One-touch fitting K&
[=]
o
(=}
™
o >
. z
Il 8
(=}
o ® 12 E;,P_lt;h) One-touch fitting >
-6 = 2}
; ; [4(A), 2(B) port] =
SR Applicable tubing O.D.: Zi 4 x M3 x 0.5 thread depth 4
— ' (For mounting) One-touch fitting
) [4(A), 2(B) port] =
] Applicable tubing O.D.: g6 = ;
~ 23
2B 8 s3
™ D O = E‘
< | wi
«@
- . . . © =
Fitting dimensions for panel mounting - 2
Panel fitting dimensions Refer to panel fitting dimensions for details. g 2
_ 0
o2 -
2x03.5 2 x M3 x 0.5 thread depth 4 %
i (For 9 stations or more) (For 9 stations or more) 45
"’ 41R-[Stations|3+1 2
= 3.5 E
ol © od (o T 3
<| ™ .
\M [Plug for external pilot] 2
o
2x04.3 fi =
o
4x035/ 3
35 35 5
L3 =
* The drawing above shows when #1 The external pilot (R) should be ordered as Made to Order.
L2 P, E port entry is D. * These figures show the “JJ5SY1-41-05B-KC6.”
£
L Dimensions: Port Size KC6 n: Stations | o
L~"| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 2
L1 335 | 43.0 | 525 | 62.0 | 71.5 | 81.0 | 90.5 | 100.0 | 109.5| 119.0 | 128.5| 138.0 | 147.5 | 157.0 | 166.5 | 176.0 | 185.5 | 195.0 | 204.5 =
L2 26.5 | 36.0 | 455 | 55.0 | 645 | 74.0 | 835 | 93.0(102.5|112.0 | 121.5| 131.0 | 140.5 | 150.0 | 159.5 | 169.0 | 178.5 | 188.0 | 197.5
L3 — — — — — — — 46.5| 51.3| 56.0| 60.8| 655| 70.3| 75.0| 79.8| 845 | 89.3| 94.0| 98.8 =
S »
s c
L Dimensions: Port Sizes KC2, KC4 n: Stations | & 2
L~n| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ‘Eg
L1 31.0 | 38.0 | 45.0 | 52.0 | 59.0 | 66.0 | 73.0 | 80.0 | 87.0 | 94.0 | 101.0| 108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0 | 157.0 :‘,n'
L2 24.0 | 31.0 | 38.0 | 45.0 | 52.0 | 59.0 | 66.0 | 73.0 | 80.0 | 87.0 | 94.0| 101.0 | 108.0 | 115.0 | 122.0 | 129.0 | 136.0 | 143.0 | 150.0
L3 — — — — — — — 36.5 | 40.0 | 435 | 47.0| 50.5| 54.0| 575| 61.0| 645| 68.0| 71.5| 75.0

22



JSY1000/3000/5000 series

Non Plug-in | Type 40/Side Ported \F\ , .
Dimensions: JSY3000 series RdUZIELEE a1 %*\J A5,

= ~ i = ~
u QQ.A "‘: a® @\f\ J"A'...
JJ5SY3-40(R)- [Stations|D- ¥ (D) ; Y ..
g
(11.8) 62 g2 (L3) Manual override
(For DIN rail mounting) 2 % (5.3) (L4) Push-turn locking slotted type:
M5x0.8 S5 (DIN all mouning holepih 125 Press, then rotate it.
(External pilot*1) 25 ) ’
[Pilot EXH por] <g (Pitch) DIN rail holding screw
1/4 = 16 P=135 (For DIN rail mounting)
[1(P), 5(EA), 3(EB) port] DIN rail bracket mounting screw
<| © (For DIN rail mounting)
- O
| ~ .
51 d}/ DIN rail
G % v re@ ) e ) - :
5 . i 4 g
Rl % ol & 3 i r Q) S
| ©| o o= - = o| ©
& &l =AH *~—‘t: 0
©f o > ==
o O | v —
T H w| & ©
8
M5 x 0.8 @)
(External pilot*1) 12 4x “4-5 4 L2
[External pilot port] 137 (For mounting)  (L5) L1
28 40R-[Stations|3+
Port size M5 (Station 1)----- (Station n) 3
(Light/surge voltage suppressor) é [Plug for external pilot]
(Pitch)
16 P=10.5
L
ke e s
N .
e_lgﬁ M5 x 0.8 ® * The drawing above shows when
2600 X", P, E port entry is D.
§ " [4(A), 2(B) port]
otfoy ~| o
o e =) Q™ 46 (Pitch) 18
dl~ e (Pioh) 15.6 P=135  [4(A), 2(B) por]
15.6 P=10.5
#1 The external pilot (R) should be ordered as Made to Order.
x These figures show the “JJ5SY3-40-05-01.”
M plug connector (M) M8 connector (W, WA)
66.5 M8 x 1
73.3 Approx. 300 49
(Lead wire length) :
[ 0
! @%0?‘ RIS ]
4 @)’ ' 3| S| =@ 8| g| =
L!—T‘ s b 2|2 - + 2 &
‘xIL;j @m N = — ‘ 3 —

L Dimensions: Port Size 01 (1/8) n: Stations
L] 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 | 455 | 59.0 | 72.5| 86.0| 99.5|113.0 | 126.5|140.0 | 153.5 | 167.0 | 180.5 | 194.0 | 207.5 | 221.0 | 234.5 | 248.0 | 261.5 | 275.0 | 288.5
L2 | 375|510 | 64.5| 78.0| 91.5|105.0 | 118.5|132.0 | 145.5 | 159.0 | 172.5 | 186.0 | 199.5 | 213.0 | 226.5 | 240.0 | 253.5 | 267.0 | 280.5
L3 | 73.0 | 855 | 110.5|123.0 | 135.5 | 148.0 | 160.5 | 173.0 | 185.5| 198.0 | 210.5 | 223.0 | 235.5 | 248.0 | 273.0 | 285.5 | 298.0 | 310.5 | 323.0
L4 | 625 | 75.0 | 100.0 | 112.5 | 125.0 | 137.5 | 150.0 | 162.5 | 175.0 | 187.5 | 200.0 | 212.5 | 225.0 | 237.5 | 262.5 | 275.0 | 287.5 | 300.0 | 312.5
L5 | 140 | 135 | 190| 185| 18.0| 175| 17.0| 16.5| 16.0| 155| 150| 145| 140| 135| 19.5| 19.0| 185| 18.0| 17.5

L Dimensions: Port Size M5 n: Stations
LC~>n| 2 3 4 5 6 7 8 9 | 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L1 | 425 | 530 | 635 | 74.0| 845| 950 |105.5|116.0 | 126.5 | 137.0 | 147.5 | 158.0 | 168.5 | 179.0 | 189.5 | 200.0 | 210.5 | 221.0 | 231.5
L2 | 345 | 450 | 555 | 66.0| 76.5| 87.0| 97.5|108.0|118.5|129.0 | 139.5 | 150.0 | 160.5 | 171.0 | 181.5 | 192.0 | 202.5 | 213.0 | 223.5
L3 | 73.0 | 855 | 98.0 [110.5|123.0|123.0 | 135.5| 148.0 | 160.5 | 173.0 | 185.5 | 185.5 | 198.0 | 210.5 | 223.0 | 235.5 | 248.0 | 248.0 | 260.5
L4 | 625 | 75.0 | 87.5 [100.0 | 112.5 | 112.5 | 125.0 | 137.5 | 150.0 | 162.5 | 175.0 | 175.0 | 187.5 | 200.0 | 212.5 | 225.0 | 237.5 | 237.5 | 250.0
L5 | 155 | 165 | 175 | 185| 19.5| 14.0| 15.0| 16.0| 17.0| 18.0| 19.0| 14.0| 150| 16.0| 17.0| 18.0| 19.0| 135| 145

®23




vetal Base JS Y 71000/3000/5000 Series

xﬁ‘”‘

Non Plug-in | Type 40/S|de Ported i
Dimensions: JSY3000 series Metal Base Jﬁ,

~
,(.m’l‘
1] Cofete =
JJ5SY3-40(R)-[Stations|0- cs [](D) £ S
82 o
(11.8) @ % (L3) Manual override
(For DIN rail mounting) g ’g (5.3) (L4) (Push-turn locking ;Iotted type: g
M5 x 0j8 . 62 27 (DIN rail mounting hole pitch: 12.5) Press, then rotate it. ©
(External pilot*1) 46.6 o A ) _ s
m : =) 16 (Pitch)P=10.5 DIN rail holding screw
1/4 26 (For DIN rail mounting)
[1(P), 5(EA), 3(EB) port] DIN rail bracket mounting screw 59
. N o
3 g (For DIN rail mounting) 'g g
| — . B —
itz DIN rail ©
e 2%
144 E=
G é | LR R T-RE v‘v@ . 4
| < - @ of H-— NN RN T o
~ 3 . q
-8 g T | Pl NN 8
3 - @2 B2 B2 ®2p @b [ [ e
& v E-—{ ] -1 6| g
%,7 Cl1Z &
MMMME 8
] of o / | ¢ - S
. o o i 0| B o et
o) - - vl = © >=
(2}
M5 x 0.8 13.7 (8) -
(External pilot*1) - 4 L2
[External pilot port] 28 __4xe45 |
(For mounting) |(L5) L1
(Station 1)----- (Station n)
(Light/surge voltage suppressor)
NN NN
@ el fal |
- U o
40R-[Stations|J+1 o Lol lo] o o S
2B n
o OO 4
3 B OO g A
[Plug for external pilot] NN ~
—: Fe=z
s One-touch fitting
(Pitch) [4(A), 2(B) port] H
. 15.6 p=10.5 Applicable tubing O.D.: 86 =
El g %
. . o
* The drawing above shows when P, E port entry is D. %1 The external pilot (R) should be ordered as Made to Order. = E
= These figures show the “JJ5SY3-40-05-C6.”
M plug connector (M) M8 connector (W, WA) g
66.5 M8 x 1 il
© v
73.3 Approx. 300 49 < g—E
(Lead wire length) ~N £
E

| ? | i g
: g
1 : E
| | D2 || D2 =
| o) o g e} =
i i 9| 1 s 2 M S|l =
e ®| G| 19 [ ®| 3| S
d ol o ! =1 =
[ o - = p-+ oo Tl
] @ == - | @65 -
Lzt L "f’:“
A - et B L .
== == B == g
J;ﬁj—l:ﬁpaz- s
e
T =
<
=
L Dimensions: Port Size C6 n: Stations | _
c~>n| 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20 Ee
o
L1 | 425 | 530 | 635 | 74.0| 84.5| 95.0|105.5|116.0 | 126.5 | 137.0 | 147.5 | 158.0 | 168.5 | 179.0 | 189.5 | 200.0 | 210.5 | 221.0| 2315 | &=
L2 | 345 | 450 | 555 | 66.0| 76.5| 87.0| 97.5|108.0|118.5|129.0 | 139.5 | 150.0 | 160.5 | 171.0 | 181.5 | 192.0 | 202.5 | 213.0 | 223.5 ;§§
L3 | 730 | 855 | 98.0 |110.5123.0 | 123.0 | 135.5 | 148.0 | 160.5 | 173.0 | 185.5 | 185.5 | 198.0 | 210.5 | 223.0 | 235.5 | 248.0 | 248.0 | 2605 | 2%
L4 | 625 | 750 | 87.5 |100.0 | 112.5 [ 112.5 | 125.0 | 137.5 | 150.0 | 162.5 | 175.0 | 175.0 | 187.5 [ 200.0 | 212.5 | 225.0 | 237.5 | 237.5 | 250.0
L5 | 155 | 165 | 175 | 185| 195| 140| 150| 16.0| 17.0| 18.0| 19.0| 14.0| 150| 16.0| 17.0| 18.0| 19.0| 135| 145

24 ®



JSY1000/3000/5000 series

Dimensions: JSY3000 Series

U
JJ5SY3-40(R)- Stations| 0 - KSE (D)
(11.8)
(For DIN rail mounting)
M5 x 0.8 62
(External pilot*1) 46.6
[Pilot EXH port]
1/4
[1(P), 5(EA), 3(EB) port]
< ©
82
Do
% LR R
B3 -0
8 © Hf‘ o xﬂw
3 L =
™ ‘{"’J \,J‘é
5w 9o 12|
R 13.7
©
M5 x 0.8

(External pilot*1)

[External pilot port]

Non Plug-in

Metal Base

£
g2 (L3) .
1SS L Manual override
X2 (5.3) - ( 4) - Push-turn locking slotted type:
5= (DIN rail mounting hole pitch: 12.5) Press, then rotate it.
28 (Pitch)

= 16 P=11.5 DIN rail holding screw

(For DIN rail mounting)
DIN rail bracket mounting screw
ﬁ%%ﬁ / (For DIN rail mounting)
e - H DIN rail
\@‘ ‘/ 1{:) I
- rOT TS Tre
o | d

- @ © - 7‘@ | @*(
—| © ) [l i i i y e S\
og| N 2 L S
o =28 - ®

© @2 @2p @2p @2 @26 o ’,:
S A |y ~~~~H B &
i i
T | | O]
%? g 83
(8)
4x045 4 L2
(For mounting) ~ (L5) L1

40R-[Stations|B
8 0~
&
3
% [Plug for external pilot] ~
f %B One-touch fitting
[4(A), 2(B) port]
f Applicable tubing O.D.: g6
108
* The drawing above shows when P, E port entry is D. %1 The external pilot (R) should be ordered as Made to Order.
= These figures show the “JJ5SY3-40-05-KC8.”
M plug connector (M) M8 connector (W, WA)
66.5 M8 x 1
73.3 Approx. 300 49
(Lead wire length) ‘—’L N
y el
S e 1
e o 183 -
o > b > o > =)
i.ﬂ g 2 3 P [+ > g 0
1 Sl w | ol <
k-4 A | = -+ S | o
M @35 - i @ qa— =
Ly L 6>
"\ n E J’d‘l—_Ll " "
L Dimensions: Port Sizes KC6, KC8 n: Stations
[ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 445 | 56.0 | 67.5 79.0| 90.5|102.0|113.5|125.0|136.5| 148.0 | 159.5 | 171.0| 182.5 | 194.0 | 205.5 | 217.0 | 228.5 | 240.0 | 251.5
L2 36.5 | 48.0 | 595 | 71.0| 82.5| 94.0 | 105.5|117.0 | 128.5 | 140.0 | 151.5 | 163.0 | 174.5 | 186.0 | 197.5 | 209.0 | 220.5 | 232.0 | 243.5
L3 73.0 | 855 | 98.0 | 110.5|123.0 | 135.5|148.0 | 160.5| 173.0 | 185.5| 198.0 | 198.0 | 210.5 | 223.0 | 235.5 | 248.0 | 260.5 | 273.0 | 285.5
L4 62.5 | 75.0 | 87.5 | 100.0 | 112.5| 125.0 | 137.5| 150.0 | 162.5 | 175.0 | 187.5 | 187.5 | 200.0 | 212.5 | 225.0 | 237.5 | 250.0 | 262.5 | 275.0
L5 145 | 15.0 | 155 16.0| 165| 17.0| 175| 18.0| 185| 19.0| 195| 13.5| 140| 145| 150| 155| 16.0| 16.5| 17.0

®©25



vetal Base JS Y 1000/3000/5000 Series

L A

Non Plug-in -, .

Dimensions: JSY3000 series RUQEILELE B i W

B & B e
_ms S Pl Nl 5
JJ5SY3-41(R)-[Stations| 0- ¥ (] 5| (e R 8
M5 x 0.8 HE T i
(External pilot*1) 62 5= (Pitch) A '
[Pilot EXH port] 46.6 <38 16 P=135 o
>
1/4 26 Manual override E
[1(P), S(EA), 3(EB) port] Push-turn locking slotted type:
<| © Press, then rotate it.
&2 N 3 o
PN = 2 0
e ; TIE7 e = g
< ay - gl ©| ofF P! 9 o —=
(9] \3 ol N 22} © Sl
8| = \ 8= P ol o 8 2 S
3 B S = 8=
| N
sl o 12 i o
13.7 o ©
28 4 x04.5
M5x 0.8 (For mounting) o . Light/surge voltage suppressor
(External pilot*") (Station 1) (Station n) (Lig 9 ge supp ) o
[External pilot port] 8
-
41R-[Stations|3+! >
Port size M5 N ‘Q
® 3
(Pitch) [Plug for external pilot] [
16, _P=105 1/8
4——'—T<7
ams! I,% (Pitch)
K P=13.5
el o) * The drawing above shows when P, E port entry is D.
Jol lo | The drawing above sh hen P, E port entry is D
4 x M4 x 0.7 thread depth 4 16|
(For mounting) Panel fitting dimensions E—
< 2B 2 x 04.5 [=]
(Pitch) ; o OOO i m: < < /(For 9 stations or more) 8
P=10.5 M5 x 0.8 ] eV pe o
18] | /T4(A), 2(8) port 00000 g Sk r
Fitting dimensions for B &
panel mounting o )
Refer to panel fitting 0 O 4 4 4xM4x0.7
dimensions for details. L3 4x04.5 7 L3 4% 045 =
=2
2xM4x0.7 4 L2 L2 53
(For 9 stations or more) L1 é é
2
>
*1 The external pilot (R) should be ordered as Made to Order. -
+ These figures show the “JJ5SY3-41-05-01.”
H
M plug connector (M) M8 connector (W, WA) § ©
(=]
66.5 M8 x 1 22
73.3 Approx. 300 49 < ,2‘
(Lead wire length) 3 %g
E
0 (%]
=
O m X S
G e g 10 S
o, o e, S
S| © ol =
= A N e 2
O Q =
& & =

@
E
L Dimensions: Port Size 01 (1/8) n: Stations | 9
L~"| 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 2
L1 | 455 | 59.0 | 725 | 86.0 | 99.5 | 113.0 | 126.5]140.0 | 153.5| 167.0 | 180.5 | 194.0| 207.5 | 221.0 | 234.5 | 248.0 | 261.5 | 2750 | 2885 | =
L2 [ 375|510 | 645 | 780 | 91.5 [105.0 | 118.5[132.0 | 145.5 ] 159.0 [ 172.5 | 186.0 | 199.5 | 213.0 | 226.5 | 240.0 | 253.5 | 267.0 | 280.5
B [ — [ — [ — T —T—[—T—"Teeo| 728[ 795 863] 93.0| 99.8[106.5/113.3]1200[126.8[ 13351403 |
_gm
L Dimensions: Port Size M5 n: Stations | &2
0~ 2 [ 3] 4 |5 ] 6 ] 7 |8 9 [10]11[12]13]14 15 ] 16 | 17 | 18 | 19 | 20 |£85
L1 | 425|530 | 635 | 74.0 | 845 | 95.0 |105.5]116.0 [ 126.5] 137.0 | 147.5 | 158.0| 168.5 | 179.0 | 189.5 | 200.0 [ 210.5 | 221.0 2315 | &%
L2 | 345 | 450 | 555 | 66.0 | 765 | 87.0 | 97.5[108.0|118.5]129.0|139.5 | 150.0 [ 160.5 | 171.0 [ 181.5 | 192.0 | 202.5 | 213.0 [ 2235
3 | — | — | — | — ] =] =] — | 540] 59.3] 645] 69.8] 750 80.3| 855 90.8| 96.0|101.3]106.5|111.8

26 ®



JSY1000/3000/5000 series

Dimensions: JSY3000 Series

JJ5SY3-41(R)- Stations]8 - cs ]

(3.2) 62
M5 x 0.8 (External pilot*?) 46.6
[Pilot EXH port] 26
1/4
[1(P), 5(EA), 3(EB) port]
< @
52 \
O
g m|
< i
3 2.
©l @ I N <=
< o
1) 1”4
3
3y =
T 137
28
<=2 .|

M5 x 0.8 (External pilot*1)

[External pilot port]

41R-[Stations|3+!

L

Non Plug-in | Type 41/Bottom Ported
Metal Base | Port Size: o6/Fixed
5
oD
8e
x| @
3=
2|5 Pich)
<3 16 P=10.5
=5
Manual override
Push-turn locking slotted type:
Press, then rotate it.
¥
I CEIEIE =
py XL
- = 3| o o «
.| © Q [N q
o N @, y ©
e~ | O o ©
0 LT | ©
(8}
W o
- ©
4 x94.5

(For mounting)

(Station 1)---(Station n)

[
—

(Light/surge voltage suppressor)

al
[er}
3
% [Plug for external pilot]
(Pitch)
16 P=10.5
One-touch fitting
" : 4(A), 2(B) port]
# The drawing above shows when P, E port entry is D. 4 x M4 x 0.7 thread depth 4 [ X )
(For mounting) Applicable tubing O.D.: 6
W
Panel fitting dimensions < BT A
2x04.5 % KA ‘” -
(For 9 stations or more) QO 9
< © 4A 7({ 4A 4<> 9)_
-1 O
NI - Fitting dimensions for % % I %
N ? panel mounting
oY p o Refer to panel fitting
dimensions for details.
L3 2xM4x0.7
For 9 stations or more
4xe;4.5/ 4 4|l \axmaxo07 4 L2 ( ' )
L3 4 x 94.5 L1
L2
#1 The external pilot (R) should be ordered as Made to Order.
# These figures show the “JJ5SY3-41-05-C6.”
M plug connector (M) M8 connector (W, WA)
66.5 M8 x 1
73.3 Approx. 300 49 <
(Lead wire length) ~
nrd
[Te}
{I & 2 £ 0 {I 2 S g "
i @Q 2l ® 1 @% 2l
P — — P — —
=1 S
: % u_u
L Dimensions: Port Size C6 n: Stations
L W 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 425 | 53.0 | 635 | 74.0 | 845 | 95.0 |1055|116.0 | 126.5| 137.0 | 147.5| 158.0 | 168.5 | 179.0 | 189.5 | 200.0 | 210.5 | 221.0 | 231.5
L2 345 | 45.0 | 55,5 | 66.0 | 76.5 | 87.0 | 97.5|108.0 | 118.5| 129.0 | 139.5 | 150.0 | 160.5 | 171.0 | 181.5 | 192.0 | 202.5 | 213.0 | 223.5
L3 — — — — — — — 54.0| 59.3| 645| 69.8| 75.0| 80.3| 855| 90.8| 96.0|101.3|106.5|111.8

®27



vetal Base JS Y 71000/3000/5000 Series

Non Plug-in | Type 41/Bottom Ported a .
Dimensions: JSY3000 Series Metal Base | Port Size: 06, o8/Replaceable JEEER X

=® d
Y _Kkce 3 5
JJ5SY3-41(R)-[Stations| 0- KE8 ] _ W 5
. .,g’ T n
KC6: 13.5) &|a
KC8: 18.6 62 5|2 Q
e S5 Pich) 2
M5 x 0.8 (External pilot*1) : 2% 16 P=11.5 >
[Pilot EXH port] 26 3
1/4 Manual override T o
[1(P), 5(EA), 3(EB) pori] éiﬁﬁfi Push-turn locking slotted type: 8 @
<l © (Press, then rotate it. B o
&' ) ! y E S
- LIelelelel¢+i= °
- a =
< - © 8| of—° 9 N
[} 0| N 2} ©
©| © o - - ? ol 0| ©
< Yol [le)
(3] [aY) [t kaﬁ
o[ 4
o ® o~
- - HH ©
M5 x 0.8 8
(External pilot*1) 137 4 x24.5 S
[External pilot port] - -~ (For mounting)  (gtation 1) --- (Station n) c>r;
@\(Light/surge voltage suppressor) =
41R-[Stations|3+! N
(3]
3
] [Plug for external pilot]
(Pitch)
16 P=11.5 One-touch fitting o
4 x M4 x 0.7 thread depth 4 [4(A), 2(B) port] S
(For mounting) Applicable tubing O.D.: 26 D
* The drawing above shows when P, E port entry is D. 108 ‘>,;
=
Panel fitting dimensions < N
] ©
2x24.5 o b =
(For 9 stations or more) © 2
¥ / o & i}
~4 o Fitting dimensions for =
&l - ) ]
<| = o panel mounting =3
8y Refer to panel fitting fn]
9 dimensions for details
/ \ 4 2xM4x0.7 e
4x04.5 4 4 4xM4x0.7 L1 (For 9 stations or more) g
L3 4 x04.5 gg
L2 _ &'
%1 The external pilot (R) should be ordered as Made to Order. o
* These figures show the “JJ5SY3-41-05-KC8.” E“‘
E
M plug connector (M) M8 connector (W, WA) "
=
66.5 M8 x 1 2
73.3 Approx. 300 2 =3
(Lead wire length) 9 < =
N 5]
‘=
: g
n
O3 o O3 @
= o 39w = o 8| g @ g
] | » 5 2l 5 S
i B =
T T ©
I ; % u_u =
k=]
S 2
- - - o
L Dimensions: Port Sizes KC6, KC8 n: Stations | & =
[ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ‘Eg
L1 435 | 55.0 | 66.5 | 78.0 | 89.5 | 101.0 | 112.5| 124.0 | 135.5| 147.0 | 158.5| 170.0 | 181.5 | 193.0 | 204.5 | 216.0 | 227.5 | 239.0 | 250.5 :ﬁ,n'
L2 35.5 | 47.0 | 585 | 70.0 | 81.5 | 93.0 | 104.5| 116.0 | 127.5 | 139.0 | 150.5 | 162.0 | 173.5 | 185.0 | 196.5 | 208.0 | 219.5 | 231.0 | 242.5

L3 — | — | — | — | — | — | — | 580/ 638| 695| 75.3| 81.0| 86.8| 92.5| 98.3|104.0 | 109.8 | 1155 | 121.3
28 ®




JSY1000/3000/5000 series

Non Plug-in

Dimensions: JSY5000 Series Metal Base
JJ5SY5-40(R)-[Stations- 81 C1(D)

o5 w3
3|8 5.3 L4 Manual override
(14.3) 70 3 .%’ (5.3), OiN mount(in rzole o 125) Push-turn locking slotted type:
(For DIN rail mounting) 546 8 (P%?t " piien- 12. Press, then rotate it.
< itcl . )
325 él), 19 P=16.5 DIN rail hol.dlng scr.ew
15.7 f (For DIN rail mounting)
- DIN rail bracket mounting screw
M5 x 0.8 (External pilot*1) (For DIN rail mounting)
[Pilot EXH port] DIN rail
[N
71 Q. B] O
= ME R Mj)E"':L 2 e %
al | 88 M ol |« R
3 % N S |l 10\0 3 & ©
NRENEIN JF S 5
o 8 S_bal ¢y £ " 5
T a] 3 @
| Lo}
3/8 4x 94.5 e -
[1(P), 5(EA), 3(EB) port] ~ 169 (For mounting
] (=)
34 P%
M5 x 0.8 (8)
(External pilot*1) 5 L2
[External pilot port] (L5) L1
(Station 1)---------- (Station n)
40R-[Stations|3+1 (Light/surge voltage suppressor)
3
[Plug for external pilot] A
2B QB
af @@@@@
0|~ AAﬁ T 4A ol
& *HOOQ" | g
i © e - T,
4 © B %
. . 42 (Pitch)
* The drawing above shows when P, E port entry is D. 19.7 P=16.5 1/4,1/8
[4(A), 2(B) port]
x1 The external pilot (R) should be ordered as Made to Order.
* These figures show the “JJ5SY5-40-05B-02.”
M plug connector (M) M8 connector (W, WA)
74.5
81.3 Approx. 300 57 <
(Lead wire length) ©
nol
- 0 -
l ‘ (o} » (o}
] @ m — am ©
. TP Sl o = B N e
] - @ ] —| <
@s Sl & i @% 3| o
K = < = n
5 @ JE= 7 @ JE=
L Dimensions: Port Sizes 01 (1/8), 02 (1/4) n: Stations

[ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 56.5 | 73.0 | 89.5|106.0 | 122.5|139.0 | 155.5| 172.0 | 188.5 | 205.0 | 221.5 | 238.0 | 254.5 | 271.0 | 287.5 | 304.0 | 320.5 | 337.0 | 353.5
L2 46.5 | 63.0 | 79.5| 96.0|112.5|129.0 | 145.5| 162.0 | 178.5 | 195.0 | 211.5 | 228.0 | 244.5 | 261.0 | 277.5 | 294.0 | 310.5 | 327.0 | 343.5
L3 85.5 | 98.0 | 123.0 | 135.5| 148.0 | 173.0 | 185.5 | 198.0 | 223.0 | 235.5 | 248.0 | 273.0 | 285.5 | 298.0 | 323.0 | 335.5 | 348.0 | 373.0 | 385.5
L4 75.0 | 87.5 | 112.5|125.0 | 137.5 | 162.5 | 175.0 | 187.5 | 212.5 | 225.0 | 237.5 | 262.5 | 275.0 | 287.5 | 312.5 | 325.0 | 337.5 | 362.5 | 375.0
L5 145|125 | 170| 150| 13.0| 17.0| 150| 13.0| 175| 155| 135| 175| 155| 135| 18.0| 16.0| 14.0| 18.0| 16.0

® 29



vetal Base JS Y 71000/3000/5000 Series

T

i
Non Plug-in | Type 40/Side Ported ]
Dimensions: JSY5000 series Metal Base NS

R ®
) “n xq('Vl'(

L
u P (‘(,fofo o -
JJ5SY5-40(R)-[Stations] D-C8LI(D) - g
Nk (L3) o
& Manual override
(14.3) X2 (5.3) . (.L4) . Push-turn locking slotted type: 3
(For DIN rail mounting) al 3 (DIN rail mounting hole pitch: 12.5) Press, then rotate it. 2
<] % (Pitch) DIN rail holding screw =
< 19 P=16 " ral nowding screw
157 (For DIN rail mounting)
) DIN rail bracket mounting screw T 3
M5 x 0.8 (External pilot*1) (For DIN rail mounting) Eg
[Pilot EXH port] / DIN rail 0
- . < _S
2o [ s § ]
| | = Y s
Wy A 9p 3 v A o v
A g ] ® oo @{ 3 @)
@ 8 g o 7| « @ ]
- © 5 3 ' ' ' ; ]
N IRENE- € e iz s
5'? o 2 9o ok 95 ok 0 F1-1 o)
%) 1 | ] mE ()
L
L | = S (=]
&l 4 x 24.5 L = - 8
= (For mounting) [ g ;
3/8 (2]
[1(P), 5(EA), 3(EB) port] (8) =
16.9 5 L2
[=]
34 (L5) L1 8
M5 x 0.8 ()
(External pilot*1) (Station 1) --------- (Station n) (3;
[External pilot pori] (Light/surge voltage suppressor) =
®\ 1 1
40R-[Stations|3+! R
NNV NNV
. 3 @, NEACAE RSN,
| ‘*’“4 [Plug for external pilot] Ol N 4A@ R @ @ 4A g
R 3 ) - 7 -
Q L u v v
e 3 :
4.2 (Pitch) One-touch fitting
197 P=16 [4(A), 2(B) port]

Applicable tubing O.D.: 28

* The drawing above shows when P, E port entry is D.

Manifold
Exploded View

%1 The external pilot (R) should be ordered as Made to Order.
x These figures show the “JJ5SY5-40-05B-C8.”

=
®
M plug connector (M) M8 connector (W, WA) § ®
EO
745 E'E
81.3 Approx. 300 57 < gE
(Lead wire length) ; £
[m) - i«
n (%]
R S
| :
- | amf < =
S Al [ | |2 £
- o AR IS
R 4 @% 2l o 2
3 IL;,‘J =<k ﬁ
@%Q[EB
===k &
S
=
2
<
=
L Dimensions: Port Size C8 n: Stations | _
L n 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ég
o
L1 56.0 | 72.0 88.0 | 104.0 | 120.0 | 136.0 | 152.0 | 168.0 | 184.0 | 200.0 | 216.0 | 232.0 | 248.0 | 264.0 | 280.0 | 296.0 | 312.0 | 328.0 | 344.0 n“.'%
L2 46.0 | 62.0 78.0| 94.0|110.0|126.0 | 142.0 | 158.0 | 174.0 | 190.0 | 206.0 | 222.0 | 238.0 | 254.0 | 270.0 | 286.0 | 302.0 | 318.0 | 334.0 ‘Eg
L3 85.5 | 98.0 | 123.0 | 135.5|148.0 | 160.5 | 185.5 | 198.0 | 210.5 | 223.0 | 248.0 | 260.5 | 273.0 | 298.0 | 310.5 | 323.0 | 348.0 | 360.5 | 373.0 :‘,n'
L4 75.0 | 87.5 |112.5|125.0 | 137.5| 150.0 | 175.0 | 187.5 | 200.0 | 212.5 | 237.5 | 250.0 | 262.5 | 287.5 | 300.0 | 312.5 | 337.5 | 350.0 | 362.5
L5 15.0 | 13.0 175| 16.0| 140| 125| 170| 15.0| 135| 115| 16.0| 145| 125| 170| 155| 135| 18.0| 16.5| 145

300



JSY1000/3000/5000 series

Dimensions: JSYB5000 series

U
JJ5SY5-40(R)-[Stations|0- KE13 (D)
(14.3) 70
(For DIN rail mounting) 54.6
M5 x 0.8 32.5
(External pilot*1) 15.7
[Pilot EXH port]
3/8
[1(P), 5(EA), 3(EB) port]
R |
5| L
Vol & @ =
< l'L,
16.9
)
o 59 34
‘é_' ‘g M5 x 0.8
00 _(External pilot*1)|
¥

[External pilot port]

40R-[Stations|3+1

3

: é [Plug for external pilot]

* The drawing above shows when P, E port entry is D.

M plug connector (M)

Non Plug-in

Metal Base | Port Size: 210, o12/Replaceable i‘\ U AAS
N %‘.!7\1
o|E w)
: % (5.3) (L4) Manual override
g_ E (DIN rail mounting hole pitch: 12.5) Push-turn locking slotted type:
Qo . Press, then rotate it.
<| ® (Pitch)
i 19 _P=16.5 DIN rail holding screw
(For DIN rail mounting)
DIN rail bracket mounting screw
(For DIN rail mounting)
i J DIN rail
o @l §
[} o) '
o 7| b K18
JEE: 5
© - EL= —|
— ® FF= <
8 8|
4 x 24.5 2
(For mounting) I 2
(8)
5 L2
(L5) L1
(Station 1) ---------- (Station n)
(Light/surge voltage suppressor)
®\ 1 1
ol & IN70\ 72N 740\ 78]
8 i “ONNOE) §l
of P P
i B : :
021 g:jtfg)s One-touch fitting
- — [4(A), 2(B) port]

Applicable tubing O.D.: 10, g12

x1 The external pilot (R) should be ordered as Made to Order.
% These figures show the “JJ5SY5-40-05B-KC12.”

M8 connector (W, WA)

74.5
81.3 Approx. 300 57 <
(Lead wire length) %
ol
i m 0 1.
] L N - | @ ©
[,;‘; > S|l o [r% L o ™
i {I}A - ] ol @_ R
!.‘;ES ) x “L ; %“E ié:‘J : x| :‘L T g
. @me[a @%0[3
18 BEBi
L Dimensions: Port Sizes KC10, KC12 n: Stations
=0 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
L1 56.5 | 73.0 89.5| 106.0| 122.5| 139.0| 155.5| 172.0| 188.5| 205.0 | 221.5| 238.0| 254.5| 271.0 | 287.5| 304.0 | 320.5| 337.0| 353.5
L2 46.5 | 63.0 | 79.5| 96.0| 112.5| 129.0| 145.5| 162.0| 178.5| 195.0| 211.5| 228.0 | 244.5| 261.0| 277.5| 294.0 | 310.5| 327.0 | 343.5
L3 85.5 | 98.0 | 123.0| 135.5| 148.0| 173.0| 185.5| 198.0| 223.0| 235.5| 248.0| 273.0| 285.5| 298.0 | 323.0| 335.5| 348.0| 373.0| 385.5
L4 75.0 | 87.5 | 112,5| 125.0| 137.5| 162.5| 175.0| 187.5| 212.5| 225.0| 237.5| 262.5| 275.0| 287.5| 312.5| 325.0 | 337.5| 362.5 | 375.0
L5 145 | 125 17.0| 15.0| 13.0f 17.0| 15.0f 13.0| 17.5| 155| 13.5| 175| 155| 13.5| 18.0| 16.0| 14.0| 18.0| 16.0

© 31



vetal Base JS Y 71000/3000/5000 Series

(=3
Non Plug-in | Type 41/Bottom Ported [EEEERES

. . . — N .
Dimensions: JSYD5000 series Metal Base | Port Size: 1/8, 1/4 N -"':".':.j

.
U = EQ 5 T
JJ5SY5-41(R)-[Stations|2- 81 (1 N W 8
®| T I (8]
N
70 gz (Pitch)
54.6 28 19 P=16.5 Manual override 2
525 = (Push—tum locking slotted type: ) E
Press, then rotate it.
15.7
M5 x 0.8 (External pilot*1) 5 o
[Pilot EXH port] Lo — :g 8
j’ﬁ‘“ﬁ\?_ o & e ‘VQ ‘vq WQZ S ®
< o Jam > 1 W o +
G| o £ 2| o o g2
o o @ © g - gi I N~ =
o ~| @ & ~ Y « i ®
~ N 8 x| © 2
S () == - Ol (04940604900 | @
/\{/g ‘-_ Rl /i T — ™
3/ 4xo045 ||| ©
[1(P), 5(EA), 3(EB) port] (For mounting) a
M5 x 0.8 16.9 1 [=]
(External pilot*1) 34 8
[External pilot port] -
(Station n) >
41R-[Stations|3+1 _ cg
(Light/surge voltage suppressor)
3 © (=}
zilam [Plug for external pilot] o 8
® ™
>
(Pitch) ‘4
19 P=16.5
= The drawing above shows when P, E port entry is D.
4 x M4 x 0.7 thread depth 5 1/4 1/8
_ : : (For mounting) [4(A), 2(B) port]
Panel fitting dimensions ©
2x04.5 o ° o
o o/(For 9 stations or more) ok
S s (00000 —
© © N
olal & 00Ok —— 37 _E
33 FT e el §g| 28 g3
< Fitting dimensions for z 8 S35
Axo0d5 | 5 Q panel mounting AN E
X 94. Bt o e
Refer to panel fitting
L3 5 4xMAx07 dimensions for detalls. 2 x M4 x 0.7 thread depth 5
L2 : L3 (For 9 stations or more) =
4 x 245 @
5 L2 £
]
L1 S8
x1 The external pilot (R) should be ordered as Made to Order. it
# These figures show the “JJ5SY5-41-05B-02.” <]
§§
M plug connector (M) M8 connector (W, WA) i
74.5 )
81.3 Approx. 300 s
(Lead wire length) 57 < =
© o
=
wr 5]
‘=
© =
OF— oF—
R — o ® ©
& S| o > Nl ™ -
@ Tl 3o @ sl o 5
N Qoo C. 3| =]
; ik y K S
O O :
8] & s
% g ] =
k=]
S 2
- - - o
L Dimensions: Port Sizes 01 (1/8), 02 (1/4) n: Stations | & =
L W 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ‘Eg
L1 545 | 71.0 | 87.5 | 104.0 | 120.5|137.0 | 153.5| 170.0 | 186.5 | 203.0 | 219.5 | 236.0 | 252.5 | 269.0 | 285.5 | 302.0 | 318.5 | 335.0 | 351.5 :ﬂ,n'

L2 445 | 61.0 | 77.5 | 94.0|110.5|127.0 | 143.5| 160.0 | 176.5 | 193.0 | 209.5 | 226.0 | 242.5 | 259.0 | 275.5 | 292.0 | 308.5 | 325.0 | 341.5
L3 — — — — — — — 80.0| 88.3| 96.5|104.8|113.0|121.3 |129.5|137.8 | 146.0 | 154.3 | 162.5 | 170.8

320




JSY1000/3000/5000 series

Non Plug-in |Type 41/Bottom Ported -
Dimensions: JSY5000 series Metal Base |Port Size: o8/Fixed N

"Q o(@% @'’
u LN =
JJ5SY5-41(R)-[Stations|p - C8 ] s|E N
[$) iC) !!’\T f
6), 70 s £ (Pitch)
54.6 ;:t k 19 P=16 Manual override
325 = Push-turn locking slotted type:
Press, then rotate it.
15.7
M5 x 0.8 (External pilot*1)
[Pilot EXH port]
$11[3 ¢
o ﬁ\‘:;‘ o o 1o "Q ‘”Q \:vQE
NERPS o 2| « o
@ @ 0 g ) I I c’;
o ~| @ 5 N a ‘
SRINEE P & °
Q| ,m == - of felelelelel |o
T 8| /H T e
3/8 4x04.5 LT 0
[1(P), 5(EA), 3(EB) port] (For mounting) i
M5 x 0.8 16.9 »
(External pilot*1) 34
[External pilot port]

41R-[Stations|3+1

3
[Plug for external pilot]

38.5

T

* The drawing above shows when P, E port entry is D. -
One-touch fitting
—_ i i 4xM4xO.7thre§d depth 5 [4(A), 2(B) port]
Panel fitting dimensions (For mounting) Applicable tubing O.D.: 28
(3]
2x04.5 0 @
o /(For 9 stations or more)
O
«@ ©
& 2
©| © [} o—
3| B )
74A7’0‘ ) &
g Fitting dimensions for
4xoa5 23 N panel mounting L L 2 x M4 x 0.7 thread depth 5
L3 5 Refer to panel fitting O B (For 9 stations or more)
L2 4xM4x0.7 dimensions for details.
4 x 245 L3
5 L2
#1 The external pilot (R) should be ordered as Made to Order. L1
+ These figures show the “JJ5SY5-41-05B-C8.”
M plug connector (M) M8 connector (W, WA)
74.5
81.3 Approx. 300 -
(Lead wire length) 5 z
? E]
Oi— =
@ - Gl @
m: e S| @ g N @
@, SEE Q.| | T3y
{H: . - i A ©
Q}% e[ = @%o[w

L Dimensions: Port Size C8 n: Stations
LC~>n| 2 3 4 5 6 7 8 9 10 | 11 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20
L1 | 54.0 | 70.0 | 86.0 |102.0|118.0 | 134.0 | 150.0 | 166.0 | 182.0 | 198.0 | 214.0 | 230.0 | 246.0 | 262.0 | 278.0 | 294.0 | 310.0 | 326.0 | 342.0
L2 | 44.0 | 60.0 | 76.0 | 92.0|108.0 | 124.0 | 140.0 | 156.0 | 172.0 | 188.0 | 204.0 | 220.0 | 236.0 | 252.0 | 268.0 | 284.0 | 300.0 | 316.0 | 332.0
L3 — | =] — | —= | = | — | — | 780| 86.0| 94.0(102.0(110.0|118.0|126.0 | 134.0 | 142.0 | 150.0 | 158.0 | 166.0

© 33




vetal Base JS Y 71000/3000/5000 Series

I
Non Plug-in | Type 41/Bottom Ported . o :
Dimensions: JSY5000 Series Metal Base | Port Size: 010, o12/Replaceable [N ”

A
U _Kc1o o|E 0 . §
JJ5SY5-41(R)-[Stations| - kgi3 ] g2 N e g
. E ¥ bl
70 JE Pich)
(ﬁg}g ;2 6) 54.6 3 3 19 P=16.5 Manual override e
B 32.5 Push-turn locking slotted type: ©
15.7 Press, then rotate it. >
M5 x 0.8
(External pilot*1)
[Pilot EXH port] iy s 9
$ 2 ©
O] . W "’q JVQBJVGE 2o
< o S 2 —=
ﬁ. g EE 2 o 2 < 1 o E:_ %
o C} o o 7| & NEARE R v\ £=
R Tk & e 5 - | P
N~
9| &y & =D o= . of folololeleld |o
e 8 - A Ak
3/8 4x 045 [ 0
[1(P), 5(EA), 3(EB) port] (For mounting)
M5 x 0.8 16.9
(External pilot*1) 34 8
i o
[External pilot port] (Station n) =
41R-[Stations|3+1 ¢>,;
(Light/surge voltage suppressor) -
3
é [Plug for external pilot] 2 8
© (=}
™
>
(2}
=
(Pitch)
* The drawing above shows when P, E port entry is D. 19 P=16.5
4xM4x0.7 threa'ld depth 5 One-touch fitting
Panel fitting dimensions (For mounting) [4(A), 2(B) por]
2x 45 o Applicable tubing O.D.: 210
" 1912
o o/(For 9 stations or more)
©
o—— =
(o) (]
g 2 2
| o ° o—1 3 re} z
O © 2 =
< s s
5 Q Fitting dimensions for =s
4x045 panel mounting w
L3 5 AXMAx 07 Refer to panel fitting 2 xFM4 X O.7lthread depth 5
L2 4 X045 dimensions for details. (For 9 stations or more) E
£
x1 The external pilot (R) should be ordered as Made to Order. > EE
% These figures show the “JJ55Y5-41-05B-KC12.” = )
&
M plug connector (M) M8 connector (W, WA) E
74.5
81.3 Approx. 300 57 e
i < S
(Lead wire length) S &
; =
x =
© DQJ g
=
Og— O—
o @ - o ©
z S|l g !
D, -lgly Q.| | 733 5
| vq-— | ‘u_) o
Goa= Goa= 2
il | il | g
I =
k=]
Ze
L Dimensions: Port Sizes KC10, KC12 n: Stations | & =
[ 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 ‘Eg
L1 545 | 71.0 | 87.5 | 104.0 | 120.5| 137.0 | 153.5 | 170.0 | 186.5 | 203.0 | 219.5 | 236.0 | 252.5 | 269.0 | 285.5 | 302.0 | 318.5 | 335.0 | 351.5 :‘,n'
L2 445 | 61.0 | 775 94.0 | 110.5 | 127.0 | 143.5 | 160.0 | 176.5 | 193.0 | 209.5 | 226.0 | 242.5 | 259.0 | 275.5 | 292.0 | 308.5 | 325.0 | 341.5

L3 — — — — — — — 80.0| 88.3| 96.5|104.8|113.0|121.3|129.5|137.8 | 146.0 | 154.3 | 162.5 | 170.8
340




JSY1000/3000/5000 Series Wil el

[Non Piug-in] Metal Base Manifold Exploded View

<JSY1000 series>

Tightening torque: 0.8 N-m

<JSY3000/5000 series>

Tightening torque: 1.4 N-m

/\ Caution

’ Tightening torque for valve mounting screw ‘

M1.4: 0.06 N-m (JSY1000)
M2: 0.16 N-m (JSY3000)
M3: 0.8 N-m (JSY5000)

Manifold Parts Nos.

Holding screw

.

Included only with the
DIN rail mounting type
(with DIN rail)

Tightening torque: 0.8 N-m

Q Included only with the DIN rail mounting type

(Tightening torque for holding screw: 1.4 N-m)

Tightening torque: 1.4 N-m

Holding screw

Included only with the
DIN rail mounting type
(with DIN rail)

Included only with the DIN rail mounting type

(Tightening torque for holding screw: 1.4 N-m)

No Description Part number Note
' i JSY1000 JSY3000 JSY5000
. JSY11V-23-1A JSY31V-23-4A JSY51V-23-4A
@ Valve mounting screw (M1.4 x 21.5) (M2 x 22) (M3 x 27) Part numbers shown on the left are for 10 valves. (20 pcs.)
@ Base gasket JSY11M-11-1A JSY31M-11-1A JSY51M-11-1A | Part numbers shown on the left are for 10 valves. (10 pcs.)
® DIN rail VZ1000-11-1-0J VZ1000-11-1-0J VZ1000-11-4-C] Refer to page 37.
@ | Clamp bracket JSY11IM-15-1A | JSY31M-15-1A | JSY51M-15-1A | Fartnumbers shownonthe left are for one

manifold. (2 sets of clamp brackets)

W
()]




JSY1000/3000/5000 series
One-touch Fittings, Clip, Port Plate, Tube Releasing Tool

Refer to “How to Replace One-touch Fittings” on page 44 for the replacement method.

H One-touch Fittings

Port size JSY1000 JSY3000 JSY5000 Note
22 KQSY10-C2 — —
o4 KQSY10-C4-X1336 KQSY30-C4 —
A, B port 26 KQSY11-C6-X1336 KQSY30-C6 KQSY50-C6 Part number is for one piece.
’ 28 — KQSY30-C8-X1336 KQSY50-C8 (Sales unit: 10 pcs.)
210 — — KQSY50-C10
212 — — KQSY50-C12-X1336

H Clip, Port Plate

JSY1000
For A, B port For A, B port JSY3000 JSY5000 Note
C2/C4 fittings C6 fittings
Clip JSY11M-19-4A JSY11M-19-3A JSY31M-19-3A JSY51M-19-3A Part number is for 10 pieces.
Port plate JSY11M-10-4A JSY11M-10-3A JSY31M-10-3A JSY51M-10-3A Part number is for 10 pieces.

HTube Releasing Tool (This tool is used for removing the tube from port A and B.)

. _ |For JSY1000 (9 mm pitch)
Series For JSY1000 (6.5 mm pitch) For JSY3000 For JSY5000
Releasing tool part no. TG-0204 TG-0608 TG-1012
Applicable tubing O.D. 02/04 06/08 210/912 For JSY1000 For JSY3000 For JSY5000

N
Tube removal procedure S,

Attach to the outside
e diameter surface of the tube.

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-mg Valve || Chart

4

=
@
==
s
= o
So

15}
=2

=
>
i

=
-}
S
(1) Set the release tool to the (2) Push the fitting release bushing (3) Remove the tube. g_E
outside diameter surface. using the release tool. 2
N  :c
£
E
v
=
=
=
o
=
S
=
<
=
S
=
o
2
3
S
=
g
EE
s
es
=]
S
Sa
(]

36 @



JSY1000/3000/5000 series
Manifold Options

H DIN rail dimensions/weight for the JSY1000/3000 metal base

* After confirming the L3 dimension in the dimensions table of each series, refer to the DIN rail dimensions table below and specify the number in the box .
L
8 (7.5)
Yo}
0
et N (IR
N Qo
Rail mounting hole pitch 12.5
No. S3 S2 S1 0 1 2 3 4 5) 6 7 8 9 10 11 12 13 14 15

L dimension | 60.5 | 73 | 855 | 98 |110.5| 123 |135.5| 148 |160.5| 173 [185.5| 198 |210.5| 223 |235.5| 248 |260.5| 273 |285.5

Weight [g] 10.9 | 13.1 | 154 | 176 | 19.9 | 221 | 244 | 26.6 | 28.9 | 31.1 | 33.4 | 35.6 | 37.9 | 40.1 | 42.4 | 446 | 46.9 | 49.1 | 51.4

No. 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34

L dimension | 298 |310.5| 323 |335.5| 348 |360.5| 373 |385.5| 398 |410.5| 423 |435.5| 448 |460.5| 473 |485.5| 498 |510.5| 523

Weight [g] 53.6 | 55.9 | 58.1 | 60.4 | 62.5 | 649 | 67.1 | 69.4 | 71.6 | 739 | 76.1 | 78.4 | 80.6 | 82.9 | 85.1 | 87.4 | 89.6 | 91.9 | 94.1

No. 35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53

L dimension |535.5| 548 |560.5| 573 [585.5| 598 |610.5| 623 |635.5| 648 |660.5| 673 |685.5| 698 |710.5| 723 |735.5| 748 |760.5

Weight [g] 96.4 | 98.6 |100.9|103.1|105.4|107.6 |109.9|112.1 |114.4|116.6 | 118.9|121.1 |123.4|125.6 | 127.9|130.1 | 132.4|134.6 | 136.9

No. 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71
L dimension | 773 |785.5| 798 |810.5| 823 |835.5| 848 |860.5| 873 |885.5| 898 |910.5| 923 |935.5| 948 [960.5| 973 |985.5
Weight [g] | 139.1|141.4 (143.6 | 145.9|148.1|150.4 | 152.6 | 154.9 | 157.1 | 159.4 | 161.6 | 163.9 | 166.1 | 168.4 | 170.6 | 172.9 | 175.1 | 177.4

HDIN rail dimensions/weight for the JSY5000 metal base

* After confirming the L3 dimension in the dimensions table of each series, refer to the DIN rail dimensions table below and specify the number in the box .
L
8

Te]
©

e )

i (I

Rail mounting hole pitch 12.5
No. S1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17

L dimension | 85.5 | 98 |110.5| 123 |135.5| 148 |160.5| 173 |185.5| 198 [210.5| 223 |235.5| 248 |260.5| 273 |285.5| 298 |310.5

Weight [g] 217 | 248 | 28 | 31.1 | 343 | 374 | 40.6 | 43.8 | 469 | 50.1 | 53.3 | 56.4 | 59.6 | 62.7 | 65.9 | 69.1 | 72.2 | 75.4 | 78.6

No. 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36

L dimension | 323 |335.5| 348 |360.5| 373 |385.5| 398 |410.5| 423 |435.5| 448 |460.5| 473 |485.5| 498 |510.5| 523 |535.5| 548

Weight [g] 81.7 | 849 | 88 | 912|944 | 975 |100.7|103.9| 107 |110.2(113.3|116.5|119.7|122.8| 126 |129.2|132.3|135.5|138.6

No. 37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53 54 55

L dimension |560.5| 573 |585.5| 598 |610.5| 623 |635.5| 648 |660.5| 673 (685.5| 698 |710.5| 723 |735.5| 748 |760.5| 773 |785.5

Weight [g] |141.8| 145 |148.1 |151.3|154.5|157.6|160.8 | 163.9|167.1|170.3|173.4|176.6|179.8|182.9|186.1 | 189.2 |192.4 | 195.6 | 198.7

No. 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71
L dimension | 798 |810.5| 823 |835.5| 848 |860.5| 873 |885.5| 898 |910.5| 923 |935.5| 948 |960.5| 973 |985.5
Weight [g] |201.9|205.1 [208.2 |211.4|214.5|217.7|220.9 | 224 |227.2|230.4|233.5|236.7 |239.8 | 243 |246.2|249.3




Manifold Options JS Y1 000/3000/5000 Series

A Caution | Tightening torque for mounting screw
M1.4: 0.06 N-m (JSY1000)

M2: 0.16 N-m (JSY3000)

Manifold Options # Refer to page 39 for dimensions. |_M3: 0.8 N-m (J5Y5000)

M Blanking plate How to Order Blanking Plates E
[With two mounting screws] o
Used when valve additions are expected or for maintenance. JSY TM-26-1A

(]
Series =
1 | JSY1000 >
3 | JSY3000
5 | JSY5000 ]
i @
®  ®) = 0
4 2 g
o K]
L L ==
TTT
5 1 3
JSY11M-26-1A JSY31M-26-1A JSY51M-26-1A (EA) (P) (EB)

Circuit diagram

M individual SUP spacer How to Order Individual SUP/EXH Spacers
[With a base gasket and two mounting screws]

When the same manifold is used for different pressures, an JSY’_3—_|1M __ 1A—

individual SUP spacer is used as a supply port for different

pressures.
~ Spacer type
/ ™~ 38 | Individual SUP spacer
’ ‘ 2-position single valve ‘Z‘Eé; 39 | Individual EXH spacer
Individual SUP spacer [ 3_‘1“:') ®Series

] 5(EA) 1 JSY1000

o — — PE) 3 | JSY3000

Circuit diagram 5 | JSY5000

(Mounting example of a 2-position single valve)

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-

Port size (One-touch fittings) ®

Part numbers of mounting screw

(For repairs) Symbol P, E port JSY1000 | JSY3000 | JSY5000
JSY1000: JSY11V-23-2A (2 pcs.) C4 | o4 One-touch fitting [ — — =
JSY3000: JSY31V-23-5A (2 pcs.) . s — — =2
JSY5000: JSY51V-23-5A (2 pos) |0 @6 One-touch fitting L s3
C8 | 08 One-touch fitting — — o 53
C10 | 10 One-touch fitting — — () = u_%
C12 | @12 One-touch fitting — — [
=
@
£
S 2
s 3
M individual EXH spacer '
[With a base gasket and two mounting screws] @ E
When valve exhaust affects other stations due to the circuit 5
.

configuration, this spacer is used for individual valve exhaust.

P

4(A
‘ 2-position single valve 2253

T

«
=
=]
=
o
o
=
(=]
=
=
<
=

Individual EXH spacer

[ H3/5(E)
| _5(EA)
1(P

3(EB)
Circuit diagram
(Mounting example of a 2-position single valve)

Made to Order

Part numbers of mounting screw
(For repairs)
JSY1000: JSY11V-23-2A (2 pcs.)
JSY3000: JSY31V-23-5A (2 pcs.)
JSY5000: JSY51V-23-5A (2 pes.)

Specific Product
Precautions

38



JSY1000/3000/5000 series

Dimensions: Manifold Options

H Blanking plate
JSY1000 series JSY3000 series JSY5000 series

va})v
3 9 <
o © ©
2
2B 2
£l =k
N cHl
bo®® | ¥ ol | un i
4A 1 |
i SEeak |
4A
)
<Type 40> <Type 40> <Type 40>
M individual SUP/EXH spacer
JSY1000 series JSY3000 series JSY5000 series
[ )
frH
o A A @
i ¥ el
ik o - v AL vy
e | e | - ©OlTe |
18 NE
‘ % o b
it DZB
E 2‘B$2‘B Q ‘ 14
=+ y - 28 ¥ 28
@ ’ |
- =S P
- J===:=== I =
One-touch fitting E%;
(SUP port, EXH port) =
Applicable tubing O.D.: g4 2

One-touch fitting

:s: (SUP port, EXH port) 1]
Applicable tubing O.D.: 88, 610, 912 ®
One-touch fitting (@] [ ‘
(SUP port, I_EXH port) 1 ® \ R
Applicable tubing O.D.: 6 | @ ;
1P - | o
~ &
@©
3 S
<Type 40> <Type 40> <Type 40>

39



JSY1000/3000/5000 series
Made to Order

Please contact SMC for detailed dimensions, specifications, and delivery times.

n External Pilot
‘ How to Order Manifolds ‘ [ p.15

JJ5SY:153—2‘1) rR--000

Type
Ll R | External pilot |

‘ How to Order Valves ‘ [ p. 16
JSY1[ J40R T -5 ][]

JSY [ J4o0R[]-5[1[]

Coil type (See below.)
Pilot type
[ R | External pilot |

« External pilot specification is not applicable for 4-position dual 3-port valves.
+ When pilot type “R” is selected, select the external pilot type “R” for the manifold model.

E Coil Type: With Power Saving Circuit (Continuous Duty Type)

Be sure to select the power saving circuit type when the JSY3000/5000 series is continuously energized for long periods of time.

Be careful of the energizing time when the power saving circuit is selected. Refer to page 44 for details.
0.1 W: JSY3000/5000

‘ How to Order Valves ‘

JSY3[Jao[]T-52[]

Coil type
[ T lWith power saving circuit (Continuous duty type)l

Pilot type (See above.)

+ M8 connector (WLJ/WALJ) with power saving circuit are not available.

Chart

Valve

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-;;;;;‘;-g;;:

Manifold
Exploded View

Fittings, Replacement
Parts, Tools

Manifold Options

Made to Order

Specific Product
Precautions

40 ®



Ak

JSY1000/3000/5000 series
Specific Product Precautions 1

Be sure to read this before handling the products. Refer to the back cover for safety instructions.
For 3/4/5-port solenoid valve precautions, refer to the “Handling Precautions for SMC Products

and the “Operation Manual” on the SMC website: https://www.smcworld.com

|

Environment \

Manual Override

A Warning

Do not use valves in atmospheres of corrosive gases, chemicals,
sea water, water, water vapor, or where there is direct contact
with any of these.

|

Valve Mounting

/A Caution

Mount it so that there is no slippage or deformation in gaskets, and
tighten with the tightening torque as shown below.

Series Thread size | Tightening torque
JSY1000 M1.4 0.06 N-m
JSY3000 M2 0.16 N-m
JSY5000 M3 0.8 N-m

|

Manual Override \

A\ Warning

1

. Do not apply excessive torque when turning the manual

override. [0.05 N-m]

When locking the manual override, be sure to push it down
before turning. Turning without first pushing it down can cause
damage to the manual override and other trouble such as air
leakage, etc.

. Regardless of an electric signal for the valve, the manual

override is used for switching the main valve. Connected
actuator is started by manual operation. Use the manual
override after confirming that there is no danger.

H Non-locking push type

Push down on the manual override button until it stops.

JSY1000 series JSY3000/5000 series

41

A Warning

M Push-turn locking slotted type [D type]

Push down on the manual override with a small flat head
screwdriver until it stops, and then turn it 90° clockwise. The manual
override is then locked. To release it, turn it counterclockwise.

If it is not turned, it can be operated the same way as the non-
locking push type.

JSY1000 series

Locked position

PUSH
URN

—

&l

M Push-turn locking lever type [E type]

Push down on the manual override by finger until it stops, and
then turn it 90° clockwise. The manual override is then locked.
To release it, turn it counterclockwise.

If it is not turned, it can be operated the same way as the non-
locking push type.

JSY1000 series
Locked position

PUSH
TURN

Carefully check the manual override projection amount. g
Max. (at OFF): 3.2 mm

JSY3000/5000 series
Locked position

Carefully check the manual override projection amount.
Max. (at OFF): 3.2 mm



Ak

JSY1000/3000/5000 series
Specific Product Precautions 2

Be sure to read this before handling the products. Refer to the back cover for safety instructions.
For 3/4/5-port solenoid valve precautions, refer to the “Handling Precautions for SMC Products”

and the “Operation Manual” on the SMC website: https://www.smcworld.com

] Used as a 3-Port Valve \

] How to Use L/M Plug Connector \

/A Caution

M In case of using a 5-port valve as a 3-port valve
The JSY1000/3000/5000 series can be used as normally closed
(N.C.) or normally open (N.O.) 3-port valves by closing one of the
cylinder ports 4(A) or 2(B) with a plug. However, they should be
used with the exhaust ports kept open.

Plug position B port A port
Type of actuation N.C. N.O.

@ (A)4 2(B) (A4 2(B)

°

S | Single

[} (EA)5 1 3(EB) (EA)5 1 3(EB)

E] (P) (P)

kS

> (A)4 2(B) (A4 2(B)

Qo

E | Double

> (EA)5 1 3(EB) (EA)51 3(EB)

(P) (P)

] How to Use L/M Plug Connector \

/A Caution

1. Attaching and detaching connectors
e To attach a connector, hold the lever and connector unit between

your fingers and insert straight onto the pins of the solenoid valve
so that the lever’s pawl is pushed into the groove and locks.

e To detach a connector, remove the pawl from the groove by push-
ing the lever downward with your thumb, and pull the connector
straight out.

For JSY1000

DC polar indication
Socket
N/ (Part no.: DXT170-71-1)

Connector (Part no.: V050-29-1) Lead wire
Hook

* In order not to damage the connector and cover, do not pull the lead
wire excessively (with a force of 10 N or more).

For JSY3000/5000
Cover
Groove
Pin
Cover
Groove

Pin Lever

DC polar indication

Socket
(Part no.: DXT170-71-1)

X

Hook/

# |n order not to damage the connector and cover, do not pull the lead
wire excessively (with a force of 30 N or more).

Connector (Part no.: SY100-29-1) Lead wi
ead wire

/A Caution

2. Crimping connection of lead wire and socket
Strip 3.2 to 3.7 mm at the end of lead wires, insert the end of
the core wires evenly into the sockets, and then crimp it by a
crimping tool. When this is done, take care that the coverings of
the lead wires do not enter the core wire crimping area.
(Please contact SMC for the dedicated crimping tools.)

Core wire

Socket Lead wire < 0.2 to 0.33 mm? >

\

3. Attaching and detaching lead wires with sockets

® Attaching
Insert the sockets into the square holes of the connector (®, ©
indication), and continue to push the sockets all the way in until
they lock by hooking into the seats in the connector.
(Whenthey are pushedin, theirhooks open andthey are
locked automatically.) Then confirm that they are locked by
pulling lightly on the lead wires.

® Detaching
To detach a socket from a connector, pull out the lead wire
while pressing the socket’s hook with a stick having a thin tip
(approx. 1 mm).
If the socket will be used again, first spread the hook outward.

Core wire crimpiniarea'/ Covering retainer

Max. O.D. of covering:

1.7 mm
Covering

Socket Connector

Hook Lead wire

42 ®

Chart

Valve

[Type 40[Type 41]

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-

Fittings, Replacement Manifold
Exploded View

Manifold Options

Made to Order

S
=
=
o
2
o
©
‘S
@
o
o

Metal Base

Parts, Tools

Precautions




JSY1000/3000/5000 series
Specific Product Precautions 3

Be sure to read this before handling the products. Refer to the back cover for safety instructions.
For 3/4/5-port solenoid valve precautions, refer to the “Handling Precautions for SMC Products”
and the “Operation Manual” on the SMC website: https://www.smcworld.com

Plug Connector

<How to Order>
L/M Plug Connector

M8 Connector Type (JSY3000/5000)

B For JSY1000
V050-30- ]A-
lRated voltage Lead wire length
Symbol| Rated voltage |Lead wire color Symbol| Lead wire length
4 DC Red, Black Nil 300 mm
Nil Without lead wire*1 6 600 mm
#1 With connector and 2 of sockets only 10 1000 mm
20 2000 mm
30 3000 mm
50 5000 mm
B For JSY3000/5000
SY100-30-[ |A-

lRated voltage Lead wire length

Symbol| Rated voltage |Lead wire color Symbol| Lead wire length
4 DC Red, Black Nil 300 mm
Nil Without lead wire*1 6 600 mm
x1 With connector and 2 of sockets only 10 1000 mm
20 2000 mm
30 3000 mm
50 5000 mm

How to Order

Specify the plug connector part number together with the part number for
the plug connector type solenoid valve without connector.

<Example> Lead wire length 2000 mm
For DC

JSY3140-5L0Z

SY100-30-4A-20

©
N
w

m Connector cable
e Connector cable for M8 can be ordered as follows:

How to Order
1. To order solenoid valve and connector cable at the same time.

(Connector cable will be included in the shipment of the
solenoid valve.)

JSYED40—5W?$ZD
IEC Standards compliant Cable length (mm)

Nil None Symbol
A IEC60947-2 compliant 1

Cable length (mm)

300

500
1000
2000
3000
4000
5000

N(oO|o|A|W(N

Ex. 1) Cable length: 300 mm
JSY3140-5W1Z

Symbol for electrical entry

2. To order connector cable only

Connector dimensions Sheath
4 Brown: 1 Bule: 3
o 0T e
Coveri Black: 4
33.9 overing
L 35 [0
Cable length (L) Part no. Sheath O.D. 3.4 mm
300 mm V100-49-1-1 Cover diameter| ©1.16 mm
500 mm V100-49-1-2 Conductor area| 0.16 mm?
1000 mm V100-49-1-3
2000 mm V100-49-1-4
5000 mm V100-49-1-7
3000 mm V100-49-1-5
4000 mm V100-49-1-6

[Dimensions when installed]

22 33.9
/_T—N—ITHTT\E
%_ILLLLLU_, -




JSY1000/3000/5000 Series
c Specific Product Precautions 4
Be sure to read this before handling the products. Refer to the back cover for safety instructions.

For 3/4/5-port solenoid valve precautions, refer to the “Handling Precautions for SMC Products”
and the “Operation Manual” on the SMC website: https://www.smcworld.com

Chart

] Surge Voltage Suppressor \

/A Caution

<For DC>
L/M Plug Connector

M Polar type (For JSY3000/5000)
With light/surge voltage suppressor ([1Z)

Polarity protection diode

9 Coil

- Connect in accordance with the +, — polarity indication.
- When wiring is done at the factory, positive (+) is red and
negative (-) is black.

B With power saving circuit (JSY3000/5000: Made to Order)

Valve

M8 Connector Type (JSY3000/5000)

M Polar type
With surge voltage suppressor (CIS)

Diode to prevent reverse current

1(+) ¢
4 (WAt %

(WA type) x Coil
3() o———-

3 (WA type)

Metal Base

Red(+)

Black(-)

With light/surge voltage suppressor ([1Z)

Diode to prevent reverse current

1(+) ¢
Power consumption is decreased to approx. 1/2.5 to 1/4 of the 4 (WA type) gp N ol
amount consumed at startup by reducing the wattage required 20
to hold the valve in an energized state. (Effective energizing 3 (WA type)

time is over 62 ms at 24 VDC.)

JSY5000 ‘ JSY3000 ‘ JSY1000 ‘-

o _ Solenoid valve side pin wiring diagram
= 3
3 e
°© e W type WA type
£
Blacko, = (Ground)
- . )
i1: Inrush current, i2: Holding current 4 = 4 (+)
The circuit shown above reduces the power consumption for
holding in order to save energy. Refer to the electrical power =
]
waveform as shown below. 1 3 1 3 ==
. . R ) =) -) =3
<Electrical power waveform with power saving circuit> S 2
o
Applied voltage * The WA-type valve cannot be grounded. o
24V
=
@
oV 5o
S8
s
=g
&g
JSY1000 0.5 W Inrush £
JSY3000/5000 0.4 W / 7777777777 9 ic
\
Holdin I
JSY1000 0.2 W 2 g
JSY3000/5000 0.1 W =]
o
ow =
62 ms 8
s
=
- Be careful not to reverse the polarity, since a diode to L
prevent the reversed current is not provided for the power =
saving circuit. g
. . =t
- Since the voltage will drop by approx. 0.5 V due to the E
transistor, pay attention to the allowable voltage fluctuation. <

(For details, refer to the solenoid specifications of each
type of valve.)

Precautions

S
=
=
o
2
o
©
‘S
@
o
o

44 @



Ak

JSY1000/3000/5000 series
Specific Product Precautions 5

Be sure to read this before handling the products. Refer to the back cover for safety instructions.
For 3/4/5-port solenoid valve precautions, refer to the “Handling Precautions for SMC Products

and the “Operation Manual” on the SMC website: https://www.smcworld.com

] Continuous Duty \

] One-touch Fittings

/\ Caution

If a valve is energized continuously for long periods of time, the
rise in temperature due to heat-up of the coil assembly may
cause a decline in solenoid valve performance, reduce service
life, or have adverse effects on peripheral equipment. If the valve
is energized continuously for long periods of time, be sure to use
a valve with power saving circuit. In particular, if three or more
adjacent stations on the manifold are energized simultaneously
for extended periods of time or if the valves on A side and B side
are energized simultaneously for long periods of time, take
special care as the temperature rise will be greater.

]Energization of a 2-Position Double Solenoid Valve\

/\ Caution

To avoid operation failure, do not energize the A side and B side
of 2-position double solenoid valve at the same time.

] How to Replace One-touch Fittings \

A\ Caution

By replacing One-touch fittings of manifold base, it is possible to
change the connection diameter of the 4(A), 2(B), 1(P), 3/5(E) ports.
When replacing the One-touch fittings, remove the clip or the plate
before pulling the One-touch fittings off. Mount the One-touch
fittings by following the removal procedure in reverse.

Use caution as it may cause air leakage if the clip and the plate are
not inserted securely enough when they are switched. Refer to page
36 for part numbers of One-touch fittings.

Fitting direction is specified when the fittings below are used.
Assemble the fitting so that the D-cut surfaces of the fitting face

sideways.
Fitting part no.: KQSY10-C4-X1336 (JSY1000

( )
KQSY11-C6-X1336 (JSY1000)
KQSY30-C8-X1336 (JSY3000)
KQSY50-C12-X1336 (JSY5000)

Ml Metal base

Moves from
side to side

~

D-cut surface

Port plate

D-cut surface

Moves from
side to side

# |t is not possible to replace C2 or C4 fittings with C6 fittings for the
JSY1000 series.

= Refer to page 36 for One-touch fitting, clip, and port plate part
numbers.

» 45

/A Caution

M Tube attachment/detachment for One-touch fittings

1) Tube attachment

1. Take a tube having no flaws on its periphery and cut it off
at a right angle. When cutting the tube, use tube cutters
TK-1, 2 or 3. Do not use pliers, nippers or scissors, etc. If
cutting is done with tools other than tube cutters, the tube
may be cut diagonally or become flattened, etc.,
making a secure installation impossible, and causing
problems such as the tube pulling out after installation or
air leakage. Allow some extra length in the tube.

2. Grasp the tube and push it in slowly, inserting it securely
all the way into the fitting.

3. After inserting the tube, pull on it lightly to confirm that it
will not come out. If it is not installed securely all the way
into the fitting, this can cause problems such as air
leakage or the tube pulling out.

2) Tube detachment

1. Push in the release button sufficiently, pushing its collar
equally around the circumference.

2. Pull out the tube while holding down the release button so
that it does not come out. If the release button is not
pressed down sufficiently, there will be increased bite on
the tube and it will become more difficult to pull it out.

3. When the removed tube is to be used again, cut off the
portion which has been chewed before reusing it. If the
chewed portion of the tube is used as is, this can cause
trouble such as air leakage or difficulty in removing the
tube.

Applicable Fittings: KQ2H, KQ2S, M Series

. Piping | Port |_... Applicable tubing O.D.
e port | size | "9 55 04 | 06 | 08 |o10[o12
1P,5EA| o |KQ2H
3EB KQ2s — >
o KQeH|C——>
(=]
S | JJ5SY1-40/41(R) XPE | M5 Tyaes ==
& | Manifold base s |KQ2H [—)
; ) =
M3 Tkaes|&
. Piping | Port |_. .. Applicable tubing O.D.
Series Model port | size Fitting 02 | o4 [ 26 [ 28 |210|@12
1P,5EA | |, |KQ2H
3EB KQ2S lcF——>
(=]
b= X PE | M5 [KQ2H —>
Q | JJ5SY3-40/41(R) KQ2s )
> | Manifold base KQ2H [
g 8 faes| |[&&—>
4A.28 s |KQ2H —— >
kas| |&D
. Piping | Port |_.... Applicable tubing O.D.
Series|  Model port | size | "9 52 [ 04 [ 06 | 08 [o10]o12
1P,5EA | oo [KQ2H
3EB KQ2S —>
=] KQH|C———>
S X,PE | M5
S | JU5SY5-40/41(R) KQ2S [E—)
& | Manifold base 14 |KQ2H —Q— >
S . Eggi [C":I:
18 [kazes Q——— >




\)



Ak

JSY1000/3000/5000 series
Specific Product Precautions 6

Be sure to read this before handling the products. Refer to the back cover for safety instructions.
For 3/4/5-port solenoid valve precautions, refer to the “Handling Precautions for SMC Products

and the “Operation Manual” on the SMC website: https://www.smcworld.com

] Other Tube Brands \

] M8 Connector

/A Caution

1. When using other than SMC brand tube, confirm
that the following specifications are satlsfled with
respect to the tube outside diameter tolerance.

1) Nylon tube within £0.1 mm
2) Soft nylon tube within £0.1 mm
3) Polyurethane tube  within +0.15 mm

within =0.2 mm
Do not use tube which do not meet these outside diameter
tolerances. It may not be possible to connect them, or they
may cause other trouble, such as air leakage or the tube
pulling out after connection.

| Fixation of DIN Rail Mounting Type Manifolds |

/A Caution

1. When the manifold is fixed with bolts on a mounting surface
etc., it can be operated just by fixing on both ends of the DIN
rail if the bottom surface of the DIN rail is entirely in contact
with the mounting surface when mounted horizontally.
However, if it is used with other mounting or with side or
reverse mounting, fix the DIN rail with bolts at regular intervals.
As a guide, insert bolts in 2 locations for 2-5 stations, 3
locations for 6-10 stations, 4 locations for 11-15 stations, and 5
locations for 16-20 stations.

2. When using the manifold with DIN rail in an environment where
any vibration or impact is applied to it, the DIN rail itself may be
broken. In particular, if the installation surface vibrates when
mounting the manifold on the wall or if a load is directly applied
to the manifold, the DIN rail may be broken, causing the
manifold to drop. When any vibration, impact, or load is applied
to the manifold, be sure to use the direct mounting manifold.

» 45-1

A\Caution

1. M8 connector types have an IP65 (enclosure) rating, offering

protection from dust and water. However please note: these
products are not intended for use in water.
Select a SMC connector cable (V100-49-1-0J) or a FA sensor
type connector, with M8 threaded 3 pin specifications
conforming to Nippon Electric Control Equipment Association
Standard, NECA4202 (IEC60947-5-2). Make sure the
connector O.D. is 10.5mm or less when used with the JSY3000
series manifold. If more than 10.5mm, it cannot be mounted
due to the size.

2. Do not use a tool to mount the connector, as this may cause
damage. Only tighten by hand. (0.4 to 0.6 N-m)

3. The excessive stress on the cable connector will not be able to
satisfy the IP65 rating. Please use caution and do not apply a
stress of 30 N or greater.

A\ Caution

Failure to meet IP65 performance may result if using alternative
connectors than those shown above, or when insufficiently
tightened.

Connector cable mounting

Triangle mark 2

‘#\

« Connector cable should be mounted in the correct direction.
Make sure that the arrow symbol on the connector is facing the triangle
symbol on the valve when using SMC connector cable (V100-49-1-07).

Arrow mark

Be careful not to squeeze it in the wrong direction, as problems such as
pin damage may occur.

] Installation

/A Caution

Even though the inlet pressure is within the operating pressure
range, when the piping diameter is restricted due to size
reduction of supply port (P), the flow will be insufficient. In this
case, the valve does not switch completely and the cylinder may
malfunction.




A\ Safety Instructions

el R
= . Caution indicates a hazard with a low level of risk which, |
A CaUtlon' if not avoided, could result in minor or moderate injury. 1

1
H « Warning indicates a hazard with a medium level of risk which,
A Warnl ng = if not avoided, could result in death or serious injury. !

These safety instructions are intended to prevent hazardous situations and/or
equipment damage.
the labels of “Caution,” “Warning” or “Danger.” They are all important notes for

These instructions indicate the level of potential hazard with

safety and must be followed in addition to International Standards (ISO/IEC)*),
and other safety regulations.

. Danger indicates a hazard with a high level of risk which, 1
A Danger = if not avoided, will result in death or serious injury. 1

| T T T R |

ISO 4414: Pneumatic fluid power — General rules relating to systems.

1ISO 4413: Hydraulic fluid power — General rules relating to systems.

IEC 60204-1: Safety of machinery — Electrical equipment of machines.
(Part 1: General requirements)

1ISO 10218-1: Manipulating industrial robots — Safety.

etc.

A Warning

1. The compatibility of the product is the responsibility of the

person who designs the equipment or decides its
specifications.

Since the product specified here is used under various operating conditions,
its compatibility with specific equipment must be decided by the person who
designs the equipment or decides its specifications based on necessary
analysis and test results. The expected performance and safety assurance
of the equipment will be the responsibility of the person who has determined
its compatibility with the product. This person should also continuously
review all specifications of the product referring to its latest catalog
information, with a view to giving due consideration to any possibility of
equipment failure when configuring the equipment.

2. Only personnel with appropriate training should operate

machinery and equipment.

The product specified here may become unsafe if handled incorrectly. The
assembly, operation and maintenance of machines or equipment including
our products must be performed by an operator who is appropriately trained
and experienced.

3. Do not service or attempt to remove product and machinery/

equipment until safety is confirmed.

1. The inspection and maintenance of machinery/equipment should only be
performed after measures to prevent falling or runaway of the driven
objects have been confirmed.

2. When the product is to be removed, confirm that the safety measures as
mentioned above are implemented and the power from any appropriate
source is cut, and read and understand the specific product precautions
of all relevant products carefully.

3. Before machinery/equipment is restarted, take measures to prevent
unexpected operation and malfunction.

. Contact SMC beforehand and take special consideration of

safety measures if the product is to be used in any of the

following conditions.

1. Conditions and environments outside of the given specifications, or use
outdoors or in a place exposed to direct sunlight.

2. Installation on equipment in conjunction with atomic energy, railways, air
navigation, space, shipping, vehicles, military, medical treatment,
combustion and recreation, or equipment in contact with food and
beverages, emergency stop circuits, clutch and brake circuits in press
applications, safety equipment or other applications unsuitable for the
standard specifications described in the product catalog.

3. An application which could have negative effects on people, property, or
animals requiring special safety analysis.

4. Use in an interlock circuit, which requires the provision of double interlock
for possible failure by using a mechanical protective function, and
periodical checks to confirm proper operation.

/A Caution

. The product is provided for use in manufacturing industries.
The product herein described is basically provided for peaceful use in
manufacturing industries.

If considering using the product in other industries, consult SMC beforehand
and exchange specifications or a contract if necessary.
If anything is unclear, contact your nearest sales branch.

=y

Limited warranty and Disclaimer/
Compliance Requirements

The product used is subject to the following “Limited warranty and Disclaimer” and
“Compliance Requirements”.
Read and accept them before using the product.

Limited warranty and Disclaimer

1. The warranty period of the product is 1 year in service or 1.5 years after
the product is delivered, whichever is first.*2)
Also, the product may have specified durability, running distance or
replacement parts. Please consult your nearest sales branch.

2. For any failure or damage reported within the warranty period which is clearly our
responsibility, a replacement product or necessary parts will be provided.
This limited warranty applies only to our product independently, and not to any
other damage incurred due to the failure of the product.

3. Prior to using SMC products, please read and understand the warranty terms
and disclaimers noted in the specified catalog for the particular products.
%2) Vacuum pads are excluded from this 1 year warranty.
A vacuum pad is a consumable part, so it is warranted for a year after it is delivered.
Also, even within the warranty period, the wear of a product due to the use of the vacuum pad
or failure due to the deterioration of rubber material are not covered by the limited warranty.

Compliance Requirements

1. The use of SMC products with production equipment for the manufacture of
weapons of mass destruction (WMD) or any other weapon is strictly prohibited.

2. The exports of SMC products or technology from one country to another are
governed by the relevant security laws and regulations of the countries involved
in the transaction. Prior to the shipment of a SMC product to another country,
assure that all local rules governing that export are known and followed.

/A Caution

SMC products are not intended for use as instruments for legal
metrology.

Measurement instruments that SMC manufactures or sells have not been
qualified by type approval tests relevant to the metrology (measurement) laws
of each country. Therefore, SMC products cannot be used for business or
certification ordained by the metrology (measurement) laws of each country.

’ ASafety Instructions | Be sure to read the “Handling Precautions for SMC Products” (M-E03-3) and “Operation Manual” before use.




\)



EZSXR| 5ocy ported | Single Unit (For Mounting PE Piate)
Compact (

5-Port Solenoid Valve = = !

’*ET\\‘ 4
A body ported type | st

(single unit) has been added. Jif
Can drive @50 bore cylinders [ Can drive 380 bore cylinders

JSY1000 JSY3000 JSY5000 1 5 mm

6.4 mm 10 mm
&

¥\
- &
= i .

- e

=z u \ f*rk

The valve size can be reduced.
This allows for space saving and weight reduction. _ - .

M

-a._l.u.

Width (mmp: 15«18

S —

Weight [g]: 97 104

T Width (mmy: 10 «15

= |E L y AR et  Se Ve ﬂ‘ o
E Weight [g): 48 .72
3 ot
S \
21 v‘j
3 - ! 3
° Width [mm): 6.4 « 10 Jsvsooo SY5000
[e] ; |
3
Weight [g]: 21 =53
oo o
JSY‘?I 000 éYC’;OOO
6.4 10 15 18

JSY1000/3000/5000 series 2 S\MC

21-E771



JSY1000/3000/5000 Series
Valve Specifications

Valve Specifications

Valve type Rubber seal
Fluid Air
Internal pilot 2-position single 0.15t0 0.7
operating pressure range [MPa] 2-position double 0.1t00.7

Ambient and fluid temperatures [°C]

—10 to 50 (No freezing)

M:;h:gs;aﬁ"g jggggg 2-position single/double 5
[Hz] JSY5000 2-position single/double 5
Non-locking push type
Manual override Push-turn locking slotted type
Push-turn locking lever type
Pilot exhaust type | Internal pilot Individual exhaust

Lubrication

Not required

Mounting orientation™’ Unrestricted
Impact/Vibration resistance™' [m/s2] 150/30

Enclosure IP40

Electrical entry L plug connector (L), M plug connector (M)
Coil rated voltage [V] 24 VDC

. JSY1000 —7% to +10% of the rated voltage (24 VDC)
Allowable voltage fluctuation
JSY3000/5000 +10% of rated voltage

Standard JSY3000/5000 0.4
m}mer consumption| o~ | with power- JSY1000 0.2*2 [Inrush: 0.5, Holding: 0.2]

saving JSY3000/5000 .

circuit (Made to Order) 0.1 [Inrush: 0.4, Holding: 0.1]
Surge voltage suppressor Diode
Indicator light LED

*1 Impact resistance: No malfunction occurred when tested in the axial direction and at a right angle to the main valve and armature in both an energized

and a de-energized state, once in each condition. (Value in the initial state)

Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. Test was performed at both an energized and a de-

energized state in the axial direction and at a right angle to the main valve and armature. (Value in the initial state)
%2 JSY1000 series available as power-saving type only. Standard type (without power-saving circuit) cannot be selected.

Response Time/Valve Weight

Body Ported

Response time [ms] (at 0.5 MPa)*!
Standard
Series Seal type Model Type of actuation With light/surge Valve weight [g]
voltage suppressor
Z type

JSY1120T 2-position single 15 21
kLY JSY1220T 2-position double 5 28

JSY3120 2-position single 27 48
SARILLY Rubber seal JSY3220 2-position double 10 63

JSY5120 2-position single 42 97
SR JSY5220 2-position double 13 113

=1 Based on the JIS B 8419: 2010 dynamic performance test (Coil temperature 20°C, at rated voltage)




JSY1000/3000/5000 series
Non Plug-in| Body Ported Single Unit (For Mounting P.E Plate)

>
Single Unit Specifications @‘j = j 1

Model Non plug-in, For mounting P.E plate
JSY1000 M5 x 0.8
1(P), 3/5(E) port | JSY3000 1/16
. JSY5000 1/8
Port size
JSY1000 M3 x 0.5, M5 x 0.8
4(A), 2(B) port JSY3000 116
JSY5000 1/8

Flow Rate Characteristics

Port size Valve flow rate characteristics
Model 1,5,3 4,2 1—4/2 (P — A/B) 4/2 — 5/3 (A/B — E)
(P,EA,EB) | (A,B) | C[dm3/(s-bar)] b C [dm3/(s-bar)] b
JSY1000 M5 M5 0.6 0.48 0.6 0.39
JSY3000 116 116 2.0 0.41 2.1 0.35
JSY5000 1/8 1/8 55 0.38 5.4 0.36

# Calculation of effective area S and sonic conductance C: S=5.0x C




oo TG
svaooomooo R

Non Plug-in

Body Ported

Single Unit (For Mounting P.E Plate)

JSY1000/3000/5000 Series

C€ @

How to Order Valves

L M3|-PE

| |

31
(LIC

1] I |
L 1-PE

555 ¢ 3

NHN

o With power-saving circuit

0 Series 9 Type of actuation 9 Body option a Rated voltage
JSY1000 1 2-position single |0 [ Pilot valve exhaust method | [ 5 ] 24 VDC |
3 JSY3000 2 2-position double
5 JSY5000

9 Electrical entry

@ Light/surge voltage suppressor and common specifications

L plug connector

M plug connector

[ 4 [ With light/surge voltage suppressor ]

L 1

'

LO

M MO

4

JSY1000

L: With lead wire : LO: Without
(300 mm)

connector

Ig M: With lead : MO: Without

JSY3000
JSY5000

L: With lead wire | LO: Without

connector

MO: Without
connector

0 Manual override

Nil: Non-locking  |D: N E:
S |push type Push-turn Push-turn
e locking locking
5 slotted lever
- type type
Nil: Non-locking |D: H E:
8 8| push type Push-turn o, Push-turn
88 locking locking
¢>,', 5 slotted lever
oo type type

+ Refer to the Web Catalog for the lead wire lengths of “L” and “M” plug
connectors.
9 4(A)/2(B) port size thread piping Cauti Made t0 Made to Order
Symbol Thread piping] JSY1000 [ JSY3000] JSY5000 A Caution order § (Refer to the back cover
M3 | M3x05 ° — — If the JSY3000/5000 series is to be continuously for details.)
M5 | M5 x 0:8 ° — — ene.rgize_d, Please_be sure to select the' power- Specification
R1 Ro1/16 ° saving circuit (continuous duty type) specification. - - .
¢ — — Refer to “Made to Order” on the back cover. With power-saving ci rcullt
01 Re1/8 - - L Additionally, if it is to be used at an energizing (Continuous duty type):
rate of over 50%, please select the product with a 0.1 W (JSY3000/5000)
. power-saving circuit. For the JSY1000 series, only
0 With P.E plate the power-saving circuit specification is available.
Symbol| Port size |JSY1000|JSY3000|JSY5000
M5 [ ] — —
PE Rc1/16 — [ J — H
Rels | — — A A\ Caution
Refer to the following to order the fitting/silencer for the 1/16 thread piping of the JSY3000 separately.
L Port size
Description Part number Piping/Type
One-touch fittings . i -
(Applicable tubing O.D.: 6) KQ2S06-R1AS-X1517
One-touch fittings 3 1 Rc1/16
(Applicable tubing O.D.: 08) KQSY-508R1S
Silencer INA-25-98

#1 The part number is for 1 piece. (Sales unit: 10 pcs.)
%1 Tightening torque: 2 to 3 N-m (One-touch fitting)




JSY1000/3000/5000 Series

Body Ported NS Pt M
Dimensions: JSY1000 series IELAAMN =g ]

2-position single/L plug connector (L)

JSY1120T-5LZ[ ]-M5-PE
Approx. 300 75.4
(Lead wire length) 41.9 ©

Manual override 11 M5 x 0.8
\ x 0.

[4(A), 2(B) port]

(Light/surge voltage suppressor)

== TR ]
< — [e0)
dg :[( - P
[ e la=fT=
10.5 | |
| 104 2x027

(For mounting)

M5 x 0.8
[1(P), 5(EA), 3(EB) port]

JSY1120T-5LZ1-M3-PE
75.4

SR e

11 M3 x0.5
[4(A), 2(B) port]

M5 x 0.8
[1(P), 5(EA), 3(EB) port]

M plug connector (M) g2
JSY1120T-5MZ[-M5-PE 5|2
5% 64.4
) 59
; L R
] | ¢[¢° [|=
19.4




JSY1000/3000/5000 series

Body Ported
Dimensions: JSY 1000 series IEAELIIL = d

2-position double/L plug connector (L)

JSY1220T-5LZ[ -M5-PE
Approx. 300 ) 112
(Lead wire length) 44.9 ©
_ ©
P OO b R
Manual override LD’J M5 x 0.8
[4(A), 2(B) port]

(Light/surge voltage suppressor)

34.4
]
%}
[hH
H
|

28.5

10.5 2x@27 ¥
(For mounting)

[1(P), 5(EA), 3(EB) port]

JSY1220T-5LZ2]-M3-PE

T SRy d o | 1 il L
11 \__M3x05
[4(A), 2(B) port]
T =
/—l .
[ 2 =

M5 x 0.8

[1(P), 5(EA), 3(EB) port]

M plug connector (M) g2
JSY1220T-5MZ[1-M5-PE 3|
§ T 90
3 ‘m 79.1
B} o Gy
[ ele=] =}




Body Ported

SY1000/3000/5000 Series

Body Ported

Dimensions: JSY3000 series BERIAN =] P
P

2-position single/L plug connector (L)

JSY3120-5LZ[ I-R1-PE
Approx. 300 ) . 90.5
(Lead wire length) Manual override 57.6
l e 15 A Y g
- - ==
=} 14.2 Rc1/16

[4(A), 2(B) port]

(Light/surge voltage suppressor)

‘ |
- @ 5 2 {1
. |ImE:
] [ ¢S =
13.2
27.5 2x03.2
(For mounting)
47.6
26.4
[ o
=10 7}
Rc1/16
[1(P), 5(EA), 3(EB) port]
M plug connector (M) . %
JSY3120-5MZ[-R1-PE 8| &
8o
<| g 80.7
= 75.7
| — T
© 1 Wil
2 | o
3 I @
[ o® | =




JSY1000/3000/5000 series

Body Ported pre ‘l"
Dimensions: JSY3000 series ISR g\""‘ -
4rﬁ "0
\‘~

2-position double/L plug connector (L)

JSY3220-5LZ[ -R1-PE
Approx. 300 ) ) 126.1
(Lead wire length) Manual override 60.3
<
=}
= TS AP R =
+ l 7 |)> \gj o T ‘("_)
A 0 e W =
=] 14.2 Rc1/16
[4(A), 2(B) por]
(Light/surge voltage suppressor)
| T
1 B 1
| o - | M= |
N~ n. i i o)
— ™ ol ™
3 B | :
l [ ¢ 1% 0}
13.2 2x93.2 o
n

(For mounting)

47.6
26.4
o o
s+ A
Rc1/16
[1(P), 5(EA), 3(EB) port]
M plug connector (M) o|B
JSY3220-5MZ[ -R1-PE 82
x| 2
e
23 106.5
3 96.5
 — N —
© 1 i
3 | Ja
| 3
[ 9% ] o}




[Non Piug-n) Body Ported _
JSY1000/3000/5000 series
Body Ported = =

~ 6 5
Dimensions: JS Y5000 series  MEUILIN LETREI -
2-position single/L plug connector (L) C‘ﬁ!i i
JSY5120-5LZ[1-01-PE -
Approx. 300 ) ) 111.5
(Lead wire length) 78.6
Ic —
Y A e <
L R
Manual override 22 Rc1/8
[4(A), 2(B) port]
(Light/surge voltage suppressor)
:_—\r: ‘ L I . 1 I : T
Q B
S % cq | ;r
< 8
o I
| | Q| O x o}
2x24.3 ‘ 18 <+
(For mounting) 371
61.7
36
€
e O-0-OF
* o ¥ 5
Rc1/8
[1(P), 5(EA), 3(EB) port]
M plug connector (M) s|®
K]
JSY5120-5MZL-01-PE NE
g ; 101.7
<3 96.7
H—L I 18 I T
™
3 - <
-l :
| e [o |




JSY1000/3000/5000 series

Body Ported -

Dimensions: JSY5000 series ML -

2-position double/L plug connector (L)

(
| e
..‘U

JSY5220-5LZ( 1-01-PE

Approx. 300 ) 148.9
(Lead wire length) 83.1

[ (%7‘7 \

| » %r‘ /f;i ﬁ | - : 8
| 1 [ ==
Manual override 22 Rc1/8
[4(A), 2(B) port]

(Light/surge voltage suppressor)

39
33.3

23.6

i

,4
40.4

| [ sl o—71— =}

2x04.3 18

(For mounting)

@

=

WX AR
U © [ =
Rc1/8

[1(P), 5(EA), 3(EB) port]

M plug connector (M)
JSY5220-5MZ[1-01-PE

129.3

Approx. 300
(Lead wire length)

119.3

50.3

33.3

40.4




JSY1000/3000/5000 series
Non Plug-in|Single Unit Parts Nos.

N Descriotion Part number Not
o Bl JSY1000 | JSY3000 | JSY5000 ot

@ Valve mounting |JSY11V-23-3A|JSY31V-23-7A [JSY51V-23-7A |Part numbers shown on the left
screw (M1.4 x 24.5) (M2 x 27) (M3 x 32) |are for 10 valves. (20 pcs.)

Part numbers shown on the left

g
@ |Base gasket JSY11M-9P-1A|[JSY31M-9P-1A|JSY51M-9P-1A are for 10 valves. (10 pes.)

With base gasket
P.E plate Available in units of 1 set
assembly JSY11V-7A-M5|JSY31V-7A-R1 | JSY51V-7A-01 For details, refer to the

part numbers below.

M P.E Plate
JSY|3[1V-7A-|R1]
2

o Series Q Thread piping

1 JSY1000 Symbol | Thread piping| JSY1000 | JSY3000 | JSY5000

3 | JSY3000 M5 | M5x0.8 [ ) — —

5 | JSY5000 R1 | Rc1/16 — () —

01 Rc1/8 — — o

10



JSY1000/3000/5000 series
Made to Order

Please contact SMC for detailed dimensions, specifications, and delivery times.

n Coil type: With power-saving circuit (Continuous duty type)

Be sure to select the power-saving circuit type when the JSY3000/5000 series is continuously energized for long periods of time.
Be careful of the energizing time when the power-saving circuit is selected.
0.1 W: JSY3000/5000

’ How to Order Valves ‘

JSY3[]20T-5[]z[]-[]-PE

Coil type
[ T l With power-saving circuit (Continuous duty type) |

’ ASafety Instructions | Be sure to read the “Handling Precautions for SMC Products” (M-E03-3) and “Operation Manual” before use.




	Non Plug-in Compact 5-Port Solenoid Valve JSY1000/3000/5000 Series
	Features
	Series Variations
	CONTENTS
	Optimum Actuation Size Chart of Air Cylinder
	Valve Specifications
	Valve Specifications
	Response Time/Valve Weight

	Valve Construction
	Valve Replacement Parts
	Non Plug-in Metal Base
	Manifold Specifications, Manifold Flow Rate Characteristics/Manifold Weight

	Type 40/41 Non Plug-in Metal Base
	How to Order Manifolds, How to Order Manifold Assembly
	How to Order Valves
	Dimensions: Type 40, Side Ported, JSY1000
	Dimensions: Type 41, Bottom Ported, JSY1000
	Dimensions: Type 40, Side Ported, JSY3000
	Dimensions: Type 41, Bottom Ported, JSY3000
	Dimensions: Type 40, Side Ported, JSY5000
	Dimensions: Type 41, Bottom Ported, JSY5000

	Manifold Exploded View
	One-touch Fittings, Clip, Port Plate, Tube Releasing Tool
	Manifold Options
	Manifold Options
	Dimensions: Manifold Options

	Made to Order
	Specific Product Precautions
	Safety Instructions
	[Non Plug-in] Compact 5-Port Solenoid Valve: Body Ported (For Mounting P.E Plate) JSY1000/3000/5000 Series
	Valve Specifications
	Single Unit Specifications, Flow Rate Characteristics
	How to Order Valves
	Dimensions: JSY1000
	Dimensions: JSY3000
	Dimensions: JSY5000
	Single Unit Parts Nos
	Made to Order




